POST OF DISTRICT EDUCATIONAL OFFICER (GROUP-I.C SERVICES) IN SCHOOL
EDUCATION DEPARTMENT INCLUDED IN THE TAMIL NADU SCHOOL

EDUCATIONAL SERVICE
1. Before the second battle of Panipat, in Delhi had assumed the title of ‘Raja
Vikramyjit'.
a. Bairam khan b. Salim Khan c. Hemu
d. Kiya khan e. Answer not known
@rewiLmb ureiul Cummsb@ (e GILe0edluiled GTEMILD  LDGHIEUIT  ‘gregm  eil&ybedls’
oI LILL S0 gBmIs ©&meurLmiT
a. eOLIIID &ITest b. F6Sib &mest c. Gamp
d. dwr smer e. alewL OFNwalsdenev
2. accepted Akbar’s Din-i-Ilahi
a. Birbal b. Mansingh c. Toder Mal
d. Tansen e. Answer not known
o6Uflar SHeil Devranlenu! gBpmIs OldmemTL T
a. Uirumed b. wredm c. BxTLTiomed
d. srergen e. alewL OFfwailsdensv
3. Iswar Chandra Gupta’s remarkable journal was the training ground of many
distinguished writers.
a. Nil Darpan b. Amrita Bazarika c. Samvad Prabhakar
d. Kailasham e. Answer not known
FoOeUT  FHFHT  @UBTaler  GPIIILSHHS  uHHfdma Uev  Usboumm
WS TenTHefe LUIBFoHHeOTS S HHDHIHI.
a. [He0 SHiTLIedr b. et urggmiéat C. FeuTd LFumssT
d. ewaseoraid e. alewL OFfwalsdensv
4. According to the view of B.C. Pal was the Prophet of Indian Cultural
Renaissance.
a. Bankim Chandra b. Aurobindo Ghose c. Hem Chandra Banerjee
d. Navin Chandra Sen e. Answer not known
.8, umeler &(h&d ey OhFHWw HeoTFFTT oBIeOTFFUNT ST dwmeuni.
a. UmSIbahagT b. oaibsCsmerd c. Gamb gHay uTenTd
d. pefer shdly OFei e. alewL OFfwailsdensv

5. “In a sense Akbar might be considered to be the Father of Indian Nationalism. At that
time when there was little nationality in the country and religion was a dividing Factor.
Akbar placed the ideal of a Common Indian nationhood above the claims of separatist
religion”.
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Who said the above statement?

a. Jawaharlal Nehru b. Motilal Nehru c. Mahatma Gandhi

d. Subash Chandra Bose e. Answer not known

“auImuibgl  UTTHSTe, SiHUmy bHwu  CarflwsHdHear FHhodwned &HH  Ceuewi(BLd.
SIQUHDLUW HTe0HH0 CHFLIUBM GHMBUTHD, S HTLmLL LemeyuUBHHID FHHWTHaD
BmhHEH. DSUT I LflelmaiuTshismend Smenshdl, DbHH BLHHeo @bhHw Bxfluib
o160 (LpeTGaTTipuImedT OIITGI LOGTLILTEITENLIOEMUI  (LPETeDRUSSHTT 6T6Iml Fnmluieuf  wimir?

a. @euamitevmed Gh(H b. Gurdeomed Gm(H C. LD&HTHIONSH HMHE

d. surey gpLHy Gumerd e. alewL OHfNwaleenew

6. Read the following passage and answer the question whose religious view is expressed
here:
“If I found myself entirely absorbed in the service of the community, the reason behind
it was my desire for self realisation. I have made the religion of service my own, as I felt
that God could be realized only through service and service for me was the service of
India. Because it came to me without my seeking, because I had an aptitude for it”.
a. Swami Vivekananda  b. Mahatma Gandhi c. Rabindranath Tagore
d. Rajaram Mohan Roy  e. Answer not known
Ueleupld  uSHewwll UYHH, GBFHed wrHemLw WwHLLTTmed  OeualILBGSHBH  TSILIMSHS
FnBeYLD.
‘I'_F)IT[IG}tir&I gepd Baameuulled (HAPMWLWITS FHULIQMHHST) DSBSHS SIJ0ILD &l 2 6uoNTHEISHEHT6T
aergdl  alpUUGL. Ggemeuullet cpeold  OLBOL  HLYWET 2 6ol  (LPIQUILD  6TEIIMI  [HITEH
o _aulbdMe0, BT GCFemeu 61D HHMS 6leih 6FMhHe WHTHH 6. b GFmeu
aaiLgl @bHw  Csmeu. gOaraipTed BHTHT DWHSH CHLTOCn Dig  GTAHDILD  UbHSHHI.
&SI HGHPH eIt D EBHSHSI.
a. seumdl alGeusrelbsT b. warHwr srHH C. @ribSlIbre STemT
d. @yregmymb Gonser grul e. elol GEfwaisdemeo

7. Name the epic poem written by Padmagupta the court poet of Paramara empire
a. Nava - Sahasankah - Charita b. Naisadhacharita
c. Trikalingadhipati d. Kalingattuparani

e. Answer not known
ugorgll  Gugdler  oFmeud HalehT UHW GUGTaler sTalwd salmapulear Guiumyd

G INICES
a. peu - Famagmas -FlHm b. eparsFisDd c. FHfseimasgkiug)
d. sedmissHHIILITeRT e. alemL Gxflwalsdensv

8.  Who among the following published the first newspaper in English Language in India?
a. Gangadhar Bhattacharya b. Rabindranath Tagore
c. James Augustus Hicky d. Ram Mohan Roy

e. Answer not known

WeiteupueuTaeilen @baHwmalsd (pHed pmidlen QFUIHHHTemem Geueflui LeuT wimr?

a. sRBTHT ulLrdamiwr b, @uibHImisd Srami C. Gxed SiBEOL6D il
d. gmb Gomaser Fmul e. alewL Oxfwaledenew

9. Assertion (A): Paninian Sanskrit though simpler than vedic is still a very
complicated language.
Reason (R): Every beginner finds great difficulty in surmounting Panini’s rules
of euphonic combination (Sandhi) the elaboration of tendencies present in the language
even in vedic times
a. (A) is true but (R) is false
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b. Both (A) and (R) are true; and (R) is the correct explanation of (A)

c. (A) is false; (R) is true

d. Both (A) and (R) are true; but (R) is not the correct explanation of (A)

e. Answer not known

apm (A): utewielwen gFwavdmah, Gaumpdms ol Waab eeflenowrs  SHbHTEID
OIF WBaD FoHHe0mer GLOTHAUWITEGLD.

smyenid (R): g@eiQeunp OFTLsssHaMT, utaieiulsr Bomg eawseF Gsidbama aldsamer
GuBlsmeTaugdled GuUHD FArwdHengd GCBOBTeTE 6TB6IT.

a. (A) sl spemed (R) seum

b. (A) wBpid (R) ey Grewib &f; wBpd (R) eewmg (A)-Ber sflwmer alensbsomELd.
c. (A) soup syemmed (R) &

d. (A) wppw (R) swddw Byewi &f; euemed (R) eeiug (A)-Qer sflwmer allemdasiosen
e. alemL OFfluaisvensv

10. Which of the following resulted due to the frequent famines in British India?
a. Retarded Agricultural Growth
b. Mass migration of population from Famine stricken regions
c. Serious tensions between the zamindars and peasants
d. Utter lack of agriculture surplus
e. Answer not known
spseni Ulpweded UMl yead @haHwneled DigsHsly LeEhFD gBULL ST allensneuTs BLbHDI
616316017
a. eleugmw euenT&FFulled LleieenL 6| ML L S
b. uEhFHHTO LTHBHILLL LGHB6Me0 BHHH WHH6T GLBL6Taled L 1D QUWITHSHTTHE
C. WOHIHTTHEHSHSWD aleugmuisendsGH B Cul SHemwwTer LUSBBLD glLL L S
d. eleusmw 2 ufluled UBBTHGDB GHBULL ).
e. alemL OFfluaieoensv

11. Read the following passage and answer to the question based on the passage.
Passage 1
Mahatma Gandhi said, “I deplore the criminal indifference of parents who keep their
daughters utterly ignorant and illiterate and bring them up only for the purpose of
marrying them off to some young man of means”.

Select the best implied from the following regarding the afore-said passage.

a. Strong measures need to be taken by parents for the overall progress of their
daughters

b. The working condition of young men needs to be improved for marrying women

c. The working condition of young women needs to be improved for marrying men

d. The women facing dowry problem

e. Answer not known
&G QaTHsHsILL (helTer USHHemul aUTF S SIFHEMQLILIENL Uil60 GaL a1l (HelTer
BxoelTa®EmHdhE alenL Wler.

usFH 1

STHOT HMHFH P Teugd “Hev FTHTTT BeneTEhTHEHHGHH H(HLOWID CFUIH OBTHHEGLD
CrTesasHIHBITHS SHHGB6ET  WFH6THMT  (PBYlsld  SPfwmend  BXID  UlILsleledeoTs
Bemeoulled emeudb@Hd CUBGBTRET GHMBD FMThEH Sievl FWSHHBEHTE  U(HbHHIS GBI .

Guopaeni.  LUSHHUIIHHSH 2 (HeUTal SHDEHHMILMaUH6Tle0 FBhHeH LDMBLPSHIOTET  alenL muld
BxHOSHBHBMLD.
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a. FHMH6T WFeiseler @UB OCordHs eauenTFdsGsd GHemeuwner SBD [HLOUQHENHHEMENL
QuBEBTT e1(hdbad Gouemi(BHLD.

b. Quemisemend &mwawid CFUIMNSBHTE Ben6nehToeie GFWLEOUTI G BHene (LpeTGaIBBLILIL
Bouemt(BLD

C. BmenehTmemen SH(HewID OCFUINSBHTHL Ouemiseilear GEFweoUT (B Hlenev (LP&TEIBBLILIL
Bouemt(BLb.

d. Quewiaell auIHL Fenewt LIJFHMRIBM6N  Fha) b MTaHe6N

e. alewL OFflwealsdenev

Which of the following is incorrectly paired?

A. Kavalgar 1. Police Officer

B. Talara 2. Superintendent

c. Begara 3. Watchman

d. Senateova 4. Village Accountant

a. (B) and (C) b. (A) and (D) c. (A) and (B)

d. (B) and (D) e. Answer not known

Lelteu(meuaieuBmled SHeummed EenentsbsLLL (heTen Semenidmens CHiThogHe:HaLD:
A. &T6UeLHIT 1. Gumederd oz a&mfl

B. seomgm 2. eI TemNLILIT6NT

C. Gusmym 3. Gmeuevmer

D. Gran@L@wimeur 4. &Mk HemTBT6NIT

a. (B) wimi> () b. (A) wipib (D) . (A) wipi (B)
d. (B) wbmibd (D) e. allenL G fwalsdensv

Choose the right matches among the following;:

1. The Forty - The Chalisa

2. Razia Begum - Ruknuddin

3. Diwan-i- ariz - Finance Minister

4. Balban - Barids

a. 4 and 3 are correct b. 2, 3 and 4 are correct c. 1 and 3 are correct

d.1,2 and 4 are correct e. Answer not known
S GUIUILLaupBBled gfllwrer QuUThHIHISmensd CHiTe] Gauis:

1. ..Gurir iy - Fellgm
2. @ydlwr Gusld - (H&BIGHET
3. Heuneir & gyfled - HiFH SiMDFST
4. LITeOLI6IT - umierd
a. 4 opmib 3 g b. 2, 3 wBpd 4 & c. 1, mmib 3 &
d. 1, 2 wBmd 4 &M e. alenL Gxflwalsdensv
Match the following:
Historians Books
A. Alberuni 1. Qiran - Us - Sa’Dain
B. Minhaj Siraj 2. Tarikh - I - Firoshahi
C. Amir Khusrau 3. Tabaqat - I - Nasiri
D. Barani 4. Tarikh - I - Hind

A B C D
a. 4 2 3 1
b. 1 2 3 4
C. 2 4 3 1
d. 4 3 1 2

e. Answer not known
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QUIT(HSSIH:
augeormmTdflwiTaelr LS SHBMISH6I
A. 916060UemHeT 1. Ayar - 2 a3 - FOHuiles
B. Weiagy Fyrey 2. ifld - § - GuGrTervaTd)
C. a1t &ayg 3. HUTHS - & - BT
D. ugewf 4. s1id - & - aflbs
A B C D
a. 4 2 3 1
b. 1 2 3 4
C. 2 4 3 1
d. 4 3 1 2
e. Answer not known
The Maitraka clan established a kingdom in Gujarat with its capital at which
soon became a seat of a learning and culture.
a. Malave b. Valabhi c. Gauda
d. Kamarupa e. Answer not known
MDSHTHT GV GHRITHHE0 QH DTNF DIHET  HENEVHBITE0 60 BHipelwgl,
95 alengaled SBBEL WBBID HEOTFFMIHH6T SLLOTS  OTASIUIG]
a. LDmereuT b. eusveval c. QmerLrm
d. smoemum e. alewL OFNwealedenev

Which is the florist region of India which has the species of Camamus vininlies and
Camamus?
a. Ganga Plain b. Deccan Region c. Malabar Region

d. Andaman - Nicobar Region  e. Answer not known

&TLomoery  aleflernmeverd OBHID Bsowed Eemisemend BTNl @phHwnaler LoHmLLl LG
8g!?

a. shmaF Foblever b. sésran (LFGsFD) c. weour LyGshaid

d. spswra-pastur MP8ssid e, el Gafuialsdemnsv

Sir. Herbert Risley classified Indian races into types

a.5 b.7 c.3 d. 4 e. Answer not known

g1 Gamiur’ Mfeved, @bHFHw Senmisemern UMBHENTHL LIS gi6enTiT.

a. s b. 7 c 3 d. 4 e. alewL OFNwealsoenev

Which of the following statements are true about India from the following information

which one is correct?

(i) The World’s second most populous country.

(ii) The fifth largest country in area.

(iii) In 2011, population density of 382 persons per sq.km.

a. (i) only b. (i) and (iii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

CarBaaslLLBeTeneuppleo gflwmer uHemevd CaHTMHOBHBHHID Ebhdwmensull UBBlw  LleTeumd
FppIsefled slemeu Fflwimereneu?

(1) 2 _eudlaT BFewiLTougl LoSHHL OHTenSH BTLTGLD.

(1) ugliueneled MmbFHTeUH QUi HILTEGLD.

(iil) 20118ud SEwNY6D, HH COFHTmd DILTHH @ FHIT H6ev L (HdHE 382 GUT SESLD.
a. () w’ @G b. () wmmid (iii) L G c. (i) wmmib (il) wr G
d. (i) w@pid (i) w'@Gbd e. el Osfwelsdened
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The term used for the event, which causes death and injuries due to sudden rush of
crowd is

a. Stampede b. Procession c. Riot

d. Natural disaster e. Answer not known

HSHLLSHHST  HleT HeUFTHSHTEL  LOJewld  LOBMID  STWLRIGMET  gBRUBSSHID HHDa|HESL
LweTUBSSLILBLD CFTed

a. Wiger FHpGeom LD b. Guiyemnf C. &H6VAUJLD

d. Bumpmas Gurifieser e. alewL OQFfwalsdensv

Find the mismatched linguistic group and language:
(i) The Indo - European family - Arya
(

ii) The Dravidian family - Dravida

(iii) Austric Family - Kannada

iv) Sino - Tibetan family - Kirata

a. (i) and (ii) only b. (ii) and (iii) only c. (iii) only
d. (i), (ii) and (iv) only e. Answer not known

Qmfl GHuwe el Heuprasll CUTHSSHLILIL (BeTen TS SHTewIsb.
(1) @baHw—mCrriniw G®LWULD - &y

(i) FgmalL G®WwULD - SyreiLLb

(iii) eperol Ms @ BLbULD - BTG LD

(iv) FGem-gHousbaHw (& BHLoULD - BT

a. () wmmb (il) B b. (ii) wBpnb (i) w’ G C. (iil) wL @

d. (1), (ii) wBmid (iv) w Gb e. alenL Qxflweaisdensv

Arrange the population density in descending order based on 2011 census.
1. Bihar
2. West Bengal

3. Kerala

4. Uttar Pradesh

a.4,1,2,3 b.1,2,4,3 c.2,1,3,4
d.1,2,3,4 e. Answer not known

2011, wase1 OCHTewsd SMISCSEGHLIIET SQlILIHLUTED ST CHTME SILTHHm SBEIG
auflewguled euflensILBSHSIS.

1. demit

2. GuoBE eumisTeND

3. Gayenm

4. o SailgGaaid

a.4,1,2,3 b.1,2,4,3 c.2,1,34

d.1,2,3,4 e. alew OFfluwialedenev

Which of the following statement/s is /are true of the Agriculture of India?
i. India is the world’s largest producer of tea, sugarcane and some oil seeds.
ii. The sources of “Green Revolution” have made India self-sufficient in food.
a.ionly b. ii only c. Both i and ii

d. None of the above e. Answer not known

&8 CarThdslL (heTeneeuBmeT @baHwnale eleugmwid OFHTLTUTET FAWTST  FBBIGSSH6IT
eTem6u?

(1) 2 _eseaaled @hHwr Gzxpulemev, &SH(HIDL WLBBID elewiCewul alendHder o MBS uled
(WHULLD S SHBBII.

(1) usemwll Yyl duier ewpeoond GbHWT, 2 ey o BuUHHUTD Heelenme CLBMICTSH.
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a. () wl@w b. (i) wl G c. (i), (i) s ByewiHd
d. GuBampPlwemfed eEaD Be0em6v e. alewL OFflwaisdensv

The main land of India extends between
a. 8°4’ North Latitude to 37°6’ North latitude
68.7" East Longitude to 97°25" East longitude
b. 8°4’ North Latitude to 36°6" North latitude
68°7" East Longitude to 97°25" East longitude
c. 9°3" North Latitude to 37°5” North latitude
68°7" East Longitude to 97°25" East longitude
d. 8°4’ North Latitude to 37°6" North latitude
68°7" East Longitude to 95°25" East longitude
e. Answer not known
@hFHwraler (sl BleollLigha) AL G SiemWbHHIeTeNSH
a. 84 aLéE oILsCime WWHed 376 alLsE oI sCras euamuiib
68.7" Hd& HTasCrams (pHe 9725 HpsE HiesCrame ey UFailusmene
b. 84 aL&E oI sCIms (s 3667 aLdE oI FCIme aumy
68°7 HipdE Hies Crme (WpHed 9725 HpsHeE Sies Gras euamy
C. 93 aLdE SILsCImaE (1P 375 aILHEE SILFCIme aum
68°7 HipdE Sieme Crame (s 9725 HpseE &ies Cras ey
d. 68’4 auLéE oI sCime e 3725 alLdse oI sCims eaamyuisb
68°7 HipdE Sieme Crame (psed 9525 A &ies Crams auamyuieib
e. alemL OFfluaisvensv

The “Yanadi’ tribal people of India live in the state of India
a. Tamil Nadu b. Karnataka c. Andhra Pradesh
d. Kerala e. Answer not known
‘wresny’ eTHIEMID @HAH W LIPEIGY EDHE6T 6UT(LPLD  LOTH 60D
a. sSULPHTH b. sipr_TS c. obariirGsgid
d. Gayemm e. alew OHfwaledenew
Match the following:
Dams State
A. Obra Dam 1. Maharashtra
B. Tawa Dam 2. Uttar Pradesh
C. Hirahud Dam 3. Madya Pradesh
D. Kadakwasla 4. Orissa
A B C D
a. 2 1 3 4
b. 2 3 4 1
C. 1 2 4 3
d. 3 1 4 2

e. Answer not known
SIPSHETL BB CILIT(HSHSHISH.

BTHCHHHLD LOMTHIELMRIG 61T

A. qupm BTHCxHdHsID 1. LDSTITOJUQTT

B. smeur pirg8sésid 2. o H5ATNCsHaD
C. sraur Bir5855s51D 3. whHwW yCxmad
D. sLézamge BTeHCheaW0 4. gilgm
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WR NN
e N S
NN NS
N WR g

a
b.
C.
d.
e. alewL OFflwealsdenev

According to the NITI Aayog, CWMI, 2018; 21 Indian Cities may face Day Zero in
coming years. Day zero refers to the day a place is Likely to have

a. No Drinking Water of its own b. No water in the cities

c. No water for industrial utility d. No discharge from industries

e. Answer not known

NITI Aayog, CWMI, 2018 @61 L, eumb oewibsefsd 21 SbHFHW  BEHIHISET [HI6l
UBMwsHms  aFHiTosmeiend B  BTel. Umeub e6aaugs b BLiFHar  Ohs
BTEN6T & GBS S BSI.

a. CemhaloTe GYDBT E6e060TH HT6lT

b. parhiseied sHewienfi &eveord [HeiT

C. QFTP0 HMBHEDHEG SHewrewiT E6VEVTSH [BT6IT

d. QamiBaremeseied BmbH 6heH SPeUBHID CeualGuIBTs b6l

e. alemL OFfluialsdensv

Match correctly the awards with the Corresponding Recipients:
A.B.B. Lal 1. Bharat Ratna

B. Nirpendra Misra 2. Padma Vibhushan

C. Subbu Arumugam 3. Padma Bhusan

D. Pranab Mukherjee 4. Padma Shri

A B G D
a. 3 4 2 1
b. 2 3 4 1
C. 1 2 3 4
d. 4 3 2 1

e. Answer not known
Ueteumd alhend Sibd alhemdll CuBBaGITG CUTHHSHIS.

A. 9.9. eumed 1. uTyg JoHeurt
B. pitubdy werdym 2. uH AYeg6sT
C. sy Smipsd 3. USID Lergest
D. dgewmy (st 4. ugw 1j

A B C D
a. 3 4 2 1
b. 2 3 4 1
C. 1 2 3 4
d. 4 3 2 1
e. alewL GEMwealedensv

The first satellite to enter into the Sum’s atmosphere is

a. Solar Orbiter b. Voyager - 2 c. Parker Solar Probe

d. Solar - C e. Answer not known

G euefewIeuHHM@SH6T HIMWHS (PHV CFWIBeNHGHT6I

a. GameonT gy Lm b. aumuGgT - 2 C. unfréasiT Gameomt (IGym
d. Ggmeunt - C e. alewL QFfwalsdensv
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Match the Column-I (Archaeological Sites) with their districts in Column II

Column -1 Column - II
A. Kodumanal 1. Thoothukudi
B. Porunthal 2. Villupuram
C. Tiruvakkarai 3. Erode
D. Adichanallur 4. Dindigul
A B C D
a. 1 3 2 4
b. 3 4 2 1
C. 3 4 1 2
d. 1 2 4 3

e. Answer not known
aufleng [60 omamid OFTevedwed uie BLmsemen euflng Il-e0 o eiteon  SeuBpses
LOTEUL L MIS@HL 63T CUIM(hHSHIs

aufleng - [ auflemg — 1I

A. Q&n(BLoenTen 1. &MéHHEHSQ

B. Qumrmpsed 2. allgpuygd

C. Fmeussamy 3. wGCym(p

D. si8Famedourit 4. FHewiHeHH60
A B C D

a. 1 3 2 4

b. 3 4 2 1

C. 3 4 1 2

d 1 2 4 3

e. alewL OFMwelsdenen

Who among the following is/are the beneficiaries of the ‘Education at Home” Scheme
launched by the Government of Tamil Nadu?
(i) Students studying in Class XI to XII
(ii) Student studying Class IX to X
(iii) Students studying in Class I to VIII
)

iv) Students studying in Per School
a. (i) only b. (i) and (iii) only c. (iii) only
d. (iv) only e. Answer not known

SpdHaTemiLuBpIeT SIS DIFTe0 P PSLILGSSILLL  ‘Bsveuld Bpipd Heval’ SHlL &6
uwestmeilge wimeu?

(1) LY (LPHEO LIGTENTERILTD UG GUDT LIg&HELID LOTERIGITHEN

(i) @eugl (PHe0 USSHTD UGLIL] 6UeD] LIQHEGD LDTEmTeUTSH6IT

(i) QW (PH6EL T LTD UGLIL] UeD] LIQ&HGLID LDTeTIeTSH6I

(iv) wpemeLWT U6eTeMUNed LIgdh@D LDTERIGUTEHEIT

a. (i) w @ b. () wBmb (iii) WG c. (iii) wr @b

d. (iv) o’ @B e. alenL Oz flwalsdensv

Which among the following statements is not associated with Women in Engineering,
Science and Technology (WEST) initiative?

a. The WEST initiative is launched by ministry of women and child development

b. WEST initiative will provide training for women with Science and Technology
Backgrounds
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c. WEST is launched to inspire girls and women to seek and remain in engineering,
science and technology related education and career

d. Under WEST a digital consortium for discussion has been established

e. Answer not known

Ueteu(pld  Sapmibdeiev  “Oumpuiwed, oplelwed wBmID CFHTHed HILLUGHH GLeEIS6T
(WEST) eteti3 (pwiiflujLest QHTLmleveonsHsl e61gi?

a. WEST Quemtae wBpIbd @benssen GubUTL (B DIenoFFssHSmed ST RIS L G

b. WEST gileluied wipid Gsmbeompi 1 Leereni Oameni GRS EHHE,

Cc. QuewimeT wBBID Ouewl  GbHmSHeT OuTBuled, oPlaluisd LBEBID CHTHEOHIL LID
OaTLTUTer  Sevall  LBEID  Oamfeseiedy  OFHTLIBHMSS eamsGallugnates WEST
CHTLRISLIULL G

d. WEST-&1 &p se0b&HIenWTLelbETal @b 19091 160 &l Lol 2 (HeuTdhalIuL B

e. alemL OFfluaisoensv

Assertion (A): Under Export Promotion of India, interest equalization scheme was
formulated.
Reason (R): Exporters are getting, the benefits in the interest rates being

charged by the banks in their export credits.
a. (A) is true but (R) is false
b. Both (A) and (R) are true;
c. (A) is false but (R) is true
d. Both (A) and (R) are true and (R) is correct explanation of (A)
e. Answer not known

app (A): SpHwuneler gBpoHoul oabGaldbs ey FOSLIBGHHIHO S LD
9 (HOUTEHBLILIL LS.
sryewid (R): IBMBIDHEETR Bl EefMedt  IHTT  aully  QBHTLILTET  [HETENLDSHEDEN

MBI WITENTH6NT  CILIN3IS 65T360TT.
a. (A) ereiug afl opemmed (R) erediug sHeumi
b. (A) wppid (R) Qewen GrewiGo sflwmens
c. (A)easiug saup wopid (R) ereug sflwreng
d. (A) wspw (R) Qeweu Byewiw af wopd (R) eemug (A)uler sflwmer allemdamd
e. alewL OFMwealedensv

Which Biopesticide has been proven to be very effective in controlling locusts?
a. Metarhizium acridum b. Bacillus Thuringiensis
c. Trichoderma viride d. Pseudomonas Fluorescens

e. Answer not known

Coul(pdseiemws & HUUGSBHIUSH WSaID LWeIeTenSHTE  Beplildasiul Gerenr o ulilT
UFFHC0BT6060 61517

a. Gl Lrengdluid oAb b. urdleverd &iMehd Gluiestdlerd

C. 19any&GHTaILTIoT @iiflig d. @GLIGwmemerd . .L1IGeny & 6iterd

e. alewL GEMwealsdensv

The next stage of growth for India’s fintech will come from
a. Income, Investments, Insurance and Institutional Credit
b. Income, Consumption and Trade

c. Investment, Exports and Banking

d. Credits, Repayments and Income

e. Answer not known
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@phgswmaler HHH QHTHOBIL L auenTFFullear DIBHHHN60 6ITIH6D 2 TN MG FnBIBH6N
aUmHaUTW, (1Pp&HeS®H, STUIH WBHID DIHLILSTT SHL63IH6N

QUHEUTU, [HIGTE] LOBMID eUenilsD

WHeSB, GBI MBI eumIsuTuIed

FLGHB6NT, HHIOUF CFIHHIH6L OBBILD 6UHEUTU]

alenL Oz fuialsoensv

Can o

Assertion (A): Govt. of India approved the National Policy for Farmers (NPFs).
Reason (R): Many of the provisions of the NPFs are operationalized through
various schemes of the Central Government.

a. (A) is true but (R) is false

b. (A) is false but (R) are true

c. Both (A) and (R) is true; (R) is the correct explanation of (A)

d. Both (A) and (R) are true; (R) is not a correct answer of (A)

e. Answer not known

ampmpl (A): elaustisepdsarar  CxAu Oatamasd (NPF) @bhsdlw  ops  guised
SieflHgIeengi.

sryenid (R): eleusmuisepsarar Cpdlw  Osmeimsuler Lo  gBUTGRSET  DSHBHW

Sirdlar LeGaum FHILMS6T cpeold GFUIOLIBSHSLILIBES TB6.

a ) ereiuigy afl opemed (R) ereiiuigy sHeum)

b. (A) esiug seum eypemmed (R) ereiiug &

c. (A) wppd (R) Beweu @remiGw afl. (R) steiug (A) uller sflwmer eflendasid

d. (A) vBpiw (R) Bemeu Gyewibo &fl. (R) ereiugl (A) ullesr seupten allendsasid

e. alewL OFMwealedensy

Which among the following is/are correctly paired?

I. Mission Vatsalya - Comprehensive rehabilitation of transgender persons

II. Mission Shakti - Provision of citizen-centric life cycle support to women

III. Mission Poshan 2.0 - Addressing the Challenges of malnutrition in children and
girls

IV. Smile Scheme - Comprehensive rehabilitation of persons engaged in
begging

a. I and III only b. I, Il and IV only c. I, III, and IV only

d. I, Ill and IV only e. Answer not known

LestaumelareuBmpieT 61gl/ elene FHuImes SenenibsliL (Herend)?

[. aurggeowmr Guidbsld - Flpphiemnaseier alfleuTer OTBIAID]

II. 558 Budsbd - QuWTIBEDEG GlWfleno FTTHSH UTDE| (PSS USHT6]
GUDMBIE BH60

III. Gumsnenr 2.0 Qudsd - GLHDOSH6T WLBBID FBoseisd 20 L FF5HFH  GMMBUTL Q6T
FUTELHM6N HlaUTHH OFUIH60

IV. Smile &t Lib - UFems eiBdb@d pUTseiar alifleumer omGUTD)
a. I wpgp I wBpibd b. I, II wmmg IV w’ @b
c. I, OI wpmd IV 1wl G d. I, I wpgw IV w'Gap

e. alewL OFflwealsvenev

Which one of the following is launched for a unified citizen-centric lifecycle support for
women and to unshackle women as they progress through various stages of their life?
a. Mission Vatsalya b. Mission Shakti c. Mission Saksham

d. Mission Poshan 2.0 e. Answer not known
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LetTau(heussTeuBmIe  61& OLUewiHe SHmideT eumpaled LeGuml &L L miselled (pesiGeins  6u(hHLD
CUTISI QHmISenhs LITORLL OBHBID UTHISTIEDL UPHIGMSBETS BpieuliL L g?

a. euTHFOWT BuibsLd b. 558 Budsld C. F&hIFlD @UISHSHID

d. Gumgner 2.0 Qussd  e. el Osfwalsdensd

Identify among the following statements that is/are true about political parties in
modern democratic states?

1. Conservative parties believe in status-quo

2. Political parties are classified as per India ideologies

3. In India, Communist Party of India (CPI) and Communist Party of India (Marxist)
CPI (M) are examples of rightist parties.

4. Radical parties are rightist conservatives parties are leftist and liberal parties are
centrist

a.land3 b.2and 4 c.land2

d.3and 4 e. Answer not known

bolerl OBTULS SJFiseie DPFwed Sl Fosmen uBpiw eeumd SHHSHIS6e0  gfluimer
B(HSHDIHBHENET  DIGHLWITNLD BHTEwI&b.

1. LpemoaITHS &L FH6T LOTBBLOELEVT HeL (PenBEerled BLOLIbme CsTeasiBeierne.

2. oflwed &L FH6lT HHHTHIHISETILIYG  6UMSLILIGSHBLILIB OB

3. @pHutailed @b sbyeled’  srd  (CPI)  opgd  ShHu  sSbuyeledl. &L d
(wrredlerol) CPI (M) eydlwensy auevgl gmfles sl da@hdd o STyemimise.

4. FHaly wLIBBHMS UOWBISSHID SLFH6T  eueOHIFTAWTSOD, LIDDWATHS — HLFH6NT
BL gigmflwrsab STymeneaTssd SLdH6T BHbHHmevd & FBeMTEad SHhHSHLILIGEEIBET.

a. 1 w@p 3 b. 2 wBgd 4 c. 1 By 2

d. 3 wBpb 4 e. alewL Oxfweailsdensv

Read the passage carefully and choose the correct option (s) from below:

This town is located on the left bank of Nambi River in Tirunelveli district. An
excavation was carried out to search for the roots of the Irom Age culture along the
Nambi River banks. It is a fertile archaeological site and is known for its antiques.

Name the archaeological site.

a. Thulukkarpatti b. Keezhadi c. Vembakottai

d. perambalur e. Answer not known

SPHHTEID LUSHFHemuwid SHeueronsd LI S, Flwmer alenLemuld BHihodHHdHHaLD.

s o FHHomeoGeausd TOULLSHH0 BT mpled DL g HmIuied SIemLOHSBIGTNGI. [HLOLT
SBBRISMIUTed EHLEHTD STevFFTISHHar CalTdemen CHBHoUSBHTH @H DISHEUTTTUIFS
GuoplsmeTemiul’L g & UPBIESTe  OUTBLSEHGEG uwT uBp @m  Caiiumer
Oamevediwisd AL 1D Aeuall ST GLIT.

a. FHILHBTLL 19 b. &g C. GeanbusBHT el
d. Quyibueym e. alenL Oz flwalsdensv
Match the following:
A. Silent Spring 1. Edward O. Wilson
B. The mismeasure of man 2. Carl Sagan
C. The Insect Societies 3. Stephen J. Gould
D. The Cosmic Connection 4. Rachel Carson

A B C D
a. 3 1 4 2
b. 4 2 3 1
C. 2 4 1 3
d. 4 3 1 2
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e. Answer not known
SIS HTEHTLIIMBENMB  CILIT(HHSHIH:

A. engevet erOLIfm 1. elleu(® g.aMle0& 6or
B. & wWebGwaT st Guoest 2. a0 BFaent
C. & @a0gs QFTamnsL 196rD 3. eroleuat 62, GsmevL.
D. & smedifs s6arbaget 4. Gyged &HmiTF6s
A B C D
a. 3 1 4 2
b. 4 2 3 1
C. 2 4 1 3
d. 4 3 1 2
e. alewL Oxfweailedensv

The Mahila Kisan Sashaktikaran Pariyojana (MKSP) was launched by the Ministry of

a. Health and Family Welfare b. Finance c. Industry

d. Rural Development e. Answer not known

Gouenmewt  wHefiT  FHFH  CGoumi®  QupbAHLLD  (MKSP)  eeuemngd  QFwesdLIBSHSID
SIMLDFFHLD

a. SHTHMD BEBID GBHLU HOSHSHIMB b. PdHsemm c. Gamsogienm

d. eays Guibum’ (Gd SHleom e. alewL OFNwealedenev

The Public - Private - Partnership in India is systematically meant for investments in

Choose the correct options:

a. high - priority public utility services
b. increasing infrastructural facilities

c. both (A) and (B)

d. National Defence alone

e. Answer not known

@hFHwraled, QUTSHISSHIMB LOBEBID HIWTT HOB Tl (B (PHSBH6T CHOSHHSH HIMBH660
FTHHWID eaLensd Ogfe) GCauls.

(weaiaiflewy QuBB CuUTEHIL LweTUT (g SHlenmaelTed
2 GTBLLMWLIL euFHHenen DIHHMHD

GG UL L (A) wBpd (B) wi @Gw

Gxpdlw urgismiy QFevalamsamen SiFHslbs
alenL  Ogfluialsoensv

O o

“The Great Tragedy of Indian Partition” was written by

a. R.K. Sharma b. S.S. Sharma c. V.D. Mahajan
d. S.N. Mehta e. Answer not known

“@bsHwt Uflalenemuier Gumb GFmsd” HIEWeD 6T(LDSHIWeUT

a. or.8s. Fom b. ererv.ererd. &iriom C. al.lg. LDHTE60T
d. ererv.ereir. GodsT e. alewL OFfwalsdensv

Match the following states with its National Highways (km) under Bharathmala
Scheme:

States Bharatmala Scheme NH (km)
A. Nagaland 1.193
B. Mizoram 2.361
C. Assam 3.512
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D. Manipur 4. 607

A B C D
a. 1 2 3 4
b. 2 3 4 1
C. 1 4 3 2
d. 2 4 3 1

e. Answer not known
&6  OBTGHBLILL(B6Ten  MHlevhISmeT  DiHeT  CHBEhFTEN60H6N
FHLGHH6Y CQUTHSHHIH:

LOMHI6VLD UTFSLomeOT FH L H&Hev CIbBEhFTene0H6T (&.15)
A. prETeITHS 1. 193
B. 10@smyib 2. 361
C. sjerderombd 3. 512
D. wemfliyt 4. 607
A B C D
a. 1 2 3 4
b. 2 3 4 1
C. 1 4 3 2
d. 2 4 3 1
e. alemL OFfluaisoensv
Match the following and choose the correct option:
A. Environment Protection 1. India REACH
B. Insurance for Employees 2. FSSAI
C. Chemical Management and Safety = 3. Umbrella Act
D. Food Safety 4. ESIC
A B C D
a. 4 3 1 2
b. 3 4 1 2
C. 2 4 1 3
d. 2 3 4 1

e. Answer not known

SpdbaremiLaBems CumhaHd wBpid Fflwmer alemLamuw BHiTho%H B oS LD:

APPES LD
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(&$.15.)  UMFGLOTeLT

A. FBBIGH0 UTSHISTIIL 1. @bt REACH
B. Oamfeomeniisensbarer smii® 2. FSSAI
C. BaudliQummeT Geomewientd WOMBMID UTHIBTILY 3. GOl FLULID
D. o _awieyll LITGHISTIIL 4. ESIC
A B C D
a. 4 3 1 2
b. 3 4 1 2
C. 2 4 1 3
d. 2 3 4 1
e. alewL OFMwealedensv
Match the following and choose the correct option:
A. A non toxic glue 1. Chitin in crab shells
B. For long term Medical 2. Glucose oxidase enzyme and iron oxide nano
monitoring particle

C. High performing lithium-ion 3. Glucose and citric acid
batteries
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D. ‘Greener’ way to clean waste 4. Sugar cubes dipped in poly dimethyl siloxane
water treatment filters

A B C D
a. 2 4 1 3
b. 3 4 1 2
C. 3 4 2 1
d 4 3 2 1

e. Answer not known
SpSETemLaBeNB CUTHHS wBpid Ffiwmer aleLmuld CHTHOHBHHHMLD:
A. QLB uvemnssITen BHEFHSHEMOWLBB 1. Hwih @BH6MNe0 2 eiten L iget
LenF
B. pewiL &mev wmHHIn semisTanilliBg 2. Gepdh8smad OiHFGLed OBTH WBBID E)(HDL
HmFH BTG HIH6TH6T
C. 2 wit QFweddmanienLw 69&HH WD 3. &en&EGaread wBpId FALfd ideod
Slwen GuL_Lfasei

D. “ugemw” sfle BF &bl 4. utedl L OGP0 FleoTdGaeled HeMerThBLILIL L
QUQHL I9HM6NT &HHD OCFUIISBE FTHBMTHBL g
A B C D
a. 2 4 1 3
b. 3 4 1 2
C. 3 4 2 1
d. 4 3 2 1
e. alewL OFfwalsdensv

Inter Governmental Panel on climate change conference was held in 2021 at

a. Buenos Aires b. New York c. Moracco

d. Glasgow e. Answer not known

Li(heuBlenev LOTMMLD GGTLTUTeT LetenTl (b SiFdidemen @uealer 2021 wimprG HeOLOUBB GLLb
a. Lyemerd ouliterd b. Buywiité c. QumrymaGast

d. &enmero@sm e. alewL OFfwailsdensv

‘Jal Jeevan Mission” was announced by the Prime Minister of India on

a. 15t August 2017 b. 15t August 2018 c. 15th August 2019

d. 15t August 2020 e. Answer not known

™M60 23eU6sT L6960 oep @bhHw Ugsw whFHfuleamsd ipflalsaliul L gi.
a. 15 gmerol 2017 b. 15 gumedl” 2018 c. 15 gymerol 2019

d. 15 symevl’ 2020 e. alewL OFfwailsdensv

“Every time my coaches who helped me to win a medal at the Olympics have been
removed from my training process and competition”. Name the sports star who said
this

a. Lovlina b. Marykom c. Vijendra Singh

d. Dhanraj Pillai e. Answer not known

“euleum(n  (empwd, @eliblld  GuTliseflsd UHEBHD  Geusdev  FHiewewrflujd  eTedIG
alemermwum (B wuipfwiment OppSlwiment BHTeir LURIGHBEGL LUIBS B (WenBUNel(HHSBILD LOBBILD
Gum’yseflelmbaH(p bSSIUGS GBI 6hHeH lmenwml. B FBLFSHHTD BbdHH IBOBSD
S Bl6oIIT.

a. 6ueledeuTT b. GuwfiGsmid c. alGxybhdly Hmi

d. semme Ueirenen e. alewL QFfwalsdensv
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50. In which City of Tamil Nadu, a floating solar power plant with 25.3 MW DC/22 MW
AC capacity was inaugurated in March 2022?

51.

52.

53.

54.

16 | P a ge APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187

a. Thoothukudi
d. Kanyakumari

b. Chennai
e. Answer not known

c. Ramanathapuram

saHHeeTen 6bhd BBIHHe0, 25.3MW DC wipid 22 MW AC gper Gamenil  1055@&L0
Giw Weaigshd Bemeowld GHTLmSUULL GI?

a. FHHHG19
d. sereflwmgof

b. Qgsiene

e. alenL OFflaisoenso

C. @UMoBISLJLD

The theory of use and disuse of organs was put forward by

a. Darwin
d. Lamarck

b. Weismann
e. Answer not known

c. Oparin

“LDweTuT® WLBBIL LWETUGESST 2 DI’ CsTeTemdewl (WeTeIomPhaHeuT

a. Lmiredlesr
d. eumwonita

b. GeuuwiervoB@ioest
e. alenL  Ggflwailsvenev

C. @UIGuMeur

Forest Survey of India (FSI) was created with effect from

a.June 1, 1981
d. July 11, 1981

b. June 11, 1981
e. Answer not known

c.July 1, 1981

@pFw euenr ouie] (FSI) o meundsiul G Bl (penBliubGsHSUIuL LSl

a. sreir 1, 1981
d. egremev 11, 1981

Colour blindness is a
a. Iron deficiency
d. Hereditary

PBEGGHLG CHTuUl sretug

a. BoUFSSH GmBLTH
d. urypbufuid  gnihs

Match the following:
A. Anilinopyrimidines
B.2,4D

C. Zinc Phosphide

D. Parathion

A B C
a. 3 1 2
b. 3 2 1
C. 2 1 3
d. 1 2 4
e. Answer not known
QUTHSHHIH:
A. 9161608amLiy10lg6tTH 61T
B. 2,4D

C. mis umerdemLIL
D. umyrggwimest

b. egreir 11, 1981
e. alenL  Ggflwailsvenen

disease.
b. Air borne infection
e. Answer not known
Grpmwm@Ld
b. siBmeuy OsTHEHI
e. alemL  Ogflwailsvenev

1. Herbicide
2. Rodenticide
3. Fungicide
4. Insecticide

C. o’emev 1, 1981

c. Vitamin deficiency

C. emaul L LO&iT &Henmur(®

A B C
a. 3 1 2
b. 3 2 1

D

4

4

4

3
1. BmendH6BHT6060
2. 6160&56®T6060
3. Y ehenFsH0® a0\
4. y&5f Ommeved

D

4

4
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C. 2 1 3 4
d. 1 2 4 3
e. allewL G flwalsvenso

55. Heat transfer in a transparent solid is by

(i) Conduction (if) Convection (iif) Radiation

a. (i), (ii) and (iii) b. (i) and (ii) only c. (iii) only

d. (i) and (iii) only e. Answer not known

el eamBHab S UL Sefled Oeulil ufoTBBLD

(i) QeulinsasL SoHev cpeotd (i) QeuliLFaevend epevLd (iii) sdTeaigs cpevld
a. (i), (ii) wBpib (iii) b. (i) wmpb (ii) only c. (iif) only

d. (i) wBg (iii) only e. alewL OgMwalsbensv

56. The method of building Nano materials by assembling atoms is called

a. Top down approach b. Bottom up approach  c. Cross down approach

d. Diagonal approach e. Answer not known

Slamibemen  @aipl  CaTiuger cweod BTG  GUT(HENeT © (HaUTEHGLD (PenBen! EeleuTy
SIDLPEBEVITLD

a. Gued dlb SITGPD b. S0GHS AMGYDPD  C. GUEEG SWIGYDD

d. epemevaill L Sigmidpens e. alewL  OgMuwalsdensv

57. Enclosed and essentially self-sufficient (but not necessarily isolated) experimental
environment or ecosystem that is on a larger scale is known as
a. Mesocosm b. Microcosm c. Macrocosm

d. Macrophyte e. Answer not known

oL’ L oBmiId  SigliumLuled  Heiiellenme]  (peiTed  HellewlLBGHHILL  Geuemnigul
SlauFlwibdlevener) BardHemen @B levevdH Ui SleTaled MBS FBBIFGHLOD DIELOLIL]
6T DIMLDSSLILIBBIBSI.

a. BasnaETFID b. enw&GymesTad c. Gua@rraraid
d. GuaBymenui’ e. alenL  Gafuweailsvensy
58. Assertion (A): Atelectasis means collapse of the alveoli.
Reason (R): Total obstruction of the airway and lack of surfactant in the fluid

lining of the alveoli
a. Assertion (A) is wrong, Reason (R) is correct
b. Assertion (A) and Reason (R) are correct but Reason (R) does not explain Assertion
(A)
c. Assertion (A) and Reason (R) are wrong
d. Assertion (A) and Reason (R) are correct, Reason (R) explains Assertion (A)
e. Answer not known
&MHBHSH (A):  SI9LLELTendlerd 6leTLIG HIMTUTI6L STBWI HlewenLl BFHLOEML QUBHTSLD.
amend (R): smBmiiutens (Wwupeugidb GFsoemLsugl LBBID STBHBI Hlewenuuler Gomuyiiy
U GMBOIGHID SYGLD.
a. amH3H (A) Houml. smyewrd (R) &
b. sz (A) smemapd (R) gf, semed smgewid (R) s@msdms (A) aleandb@asis
SO 6O6M 6V
C. aHHHID (A) srgewipd (R) seum
d. smszid (A) smgemapd (R) f, smend (R) s@msdms (A) alens@Hnal.
e. alenL Gaflweailedenso
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The chief function of velamen tissue in plants

a. Storage of food materials b. Absorption of moisture from air
c. Synthesize of food materials d. Conduction of food material

e. Answer not known

FHTougmisened Geousvblioet Haaler (WpoHalwl Liewf

a. 2 el QUL semer GaFLoLILIg b. smBBledBheH FILILSHMmS 2 DichTiaid

C. 2 euieyll OUTIHLSemem STl d. o _ewayt QUITIHL HemeN HLGHHIRIS]

e. alenL Gafweailsdenso

‘Guttation’ takes place through

a. Hydathode b. Lenticel c. Stomata

d. Cuticle e. Answer not known

‘Brdsdley’ @6 cpevld HenL CUEBISIBSHI

a. wamL Bamh b. GevewgGged C. BMEVHHIM6
d. @uyl 19aeir e. alewL  OgMwalsdensv

Which article of Indian constitution mention about the development of scientific

temper?
a. Article 51 b. Article 60A c. Article 51 A (h)
d. Article 61 A e. Answer not known

@b opFweoenotiier  epsl  Lflelled opfelwed  wembHlenevuiet  euenTFS LB
GBUILOUL BeiTeng

a. Mfley 51 b. ifey 60 A c. Ufley 51A (h)

d. dfey 61 A e. allenL Gaflweisvensv

What are the characteristics of rote learning?

1. Passive Process ii. Parasitic learning

iii. Active learning iv. Teacher - Centered

a. (iv) and (ii) only b. (i) and (ii) only c. (i), (ii) and (iv) only

d. (iii) and (iv) only e. Answer not known

QUIT(HET ©_6mIITO6D HBMEVI6H LIRILIS6T WiTeneu?

a. QFWeOmB SHBBEL (LD b. U Gewienl smmed

. QFwelsd HMM6L d. epfflwir gnibsal

a. (iv) wmmid (ii) L @w b. (i) wBmub (ii) L G c. (i), (ii) whprd (iv) wEw
d. (iii) wBpib (iv) W Bib e. alewL Oz fwaisdenso

Assertion (A): In the case of a sphere floating in a liquid, a tilt one way or other

does not change the shape of the displaced liquid and said to be in
neutral equilibrium.

Reason (R): Meta centre (M) coincides with centre of gravity (G) all the time
and it continues to float in all positions.

a. (A) is true but (R) is false

b. Both (A) and (R) are true, and (R) is the correct explanation of (A)

c. (A) is false, (R) true

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

e. Answer not known
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&Bp (A): FHrausdear g WssGh CatenddHmer ashHamFuied SHmLiameld OiFHermeo
CeuelCuBBLILBLD  HFeudhden eaugalld IBTOIHBSWD Ged DI HBHBH 6O
gFlopleneouled B(Heb@SLD.

asryewid (R): eiBurgid e evwowid (M) wmiiy eowouwd (G) BeuelyesiGd  @emilet Bl
QM QUIHHSH  BHUUSTEL  6T6060T  HlewevdHaNaID  CHTLAHEH  WOHHIB
O&memTgmHEBGLD.

a. (A) gfl gemmed (R) seum

b. (A) wipd (R) @rewipo &f: wppid (R) sapm (A) &g aflwmer alendson@d

c. (A) saum (R) &M

d. (A) wppid (R) Syewibd sf: gemed (R) sapm (A) &@ Filwmer allendsid l606v.

e. alenL Gafweailsdenso

Water rises upto a height h in a capillary tube of a certain diameter. The capillary tube
is replaced by a similar capillary tube of half the diameter. The water will rise to a
height of

a.4h b.3h c.2h d.1h e. Answer not known

QM GUIILL ol Lib O&TewiL HEW Hemend  @Gruled Bymerdl h eem L &HHBE

BIGWILMWUT60  gBBLmLEBH. BbHSH HIWILDWS GHTWTedH oBepTrm  uTdHuleme) el b
OaTewiL  HlewIGHlenend GLTWTe0 LMBBULGL Curgl Bl HiewLmW gmBpoHaHlen oL L LD

a.4h b.3h c.2h d.1h e. alewL  Oafwalsbensv

The contraction of volume when ice melts can be attributed to

a. Partial collapse of tetrahedral structure b. Formation of Hydrogen bond
c. Water starts to vapourise d. None of the above

e. Answer not known

uaidbally o HGSD CUTH DISHIML U LI(HLOGT G6DBeUSBBHTE BT 6mILD

a. ueldaLl guilest BTapd LgHs SLLMLIL LG U] E6meveUHT6e0

b. ewami o6t Lemewilil] 2 (HeuTaldHTe0

C. BT SLelwinsd CHTLMIG6HT6L

d. @emeu gFHILOLEM6D

e. allewL G flwaisvenso

The largest ecosystem in the world is

a. Desert ecosystem b. Ocean ecosystem c. Grassland ecosystem

d. Forest ecosystem e. Answer not known

Letteu(heuateuipsied 61g 2 eudledr LOSLIGUITIUI @60 LD6ETL 6VLD?

a. LITeM6LeUEITF @HLD6D LDGUITL 6VLD b. L6 @ped WEWILeVD  C. LeoGleueMF @lpe0 LDEWTL 6VLD
d. euerF @Lped LDGWTL 6VID e. alewL Gz fuwailsdenso

Which of the following events occur during hibernation in animals?

(i) Oxygen consumption rate is reduced

(ii) Heart beat rate of animal is increased

(iii) The body temperature falls 1-2° C below the environmental temperature
a. (i) and (ii) are correct b. (i) and (iii) are correct

c. (ii) and (iii) are correct d. (iii)only correct

e. Answer not known

GofliTaTen o BHs Hensouled alevmiGHHeT EHBHGSWLOLTIDS, SLDSHHETL UBBIGT 6IHHIBHLDE|SH6NT
BeoL OUBISBSHI?

1. LB HISTey alSHHD GHMBSILILIGH DB

ii. aflevmiGaefllal BawHBIgLIL| DiFHETHS MBS

iii. 2 160 GeauliuBlensy SMBEBIFEGWeL GeauliuBlenevenuwt el 1-2° C &6 GHammama)
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a. (i) wppiw (i) sfwrereney b. (i) w@pgd  (iii) sflwrerene
c. (ii) wppib  (iii) sfwrereneu d. (iii) wGGw sfwregi
e. allewL G flwalsvenso

68. Match the following;:

A. Carrageenin 1. Insulation of boilers
B. Diatomite 2. Dental impression
C. Kelps 3. Irish moss
D. Alginic acid 4. Brown Algae
A B C D
a. 3 4 1 2
b. 4 1 3 2
C. 2 1 3 4
d. 3 1 4 2

e. Answer not known
SIS aUBemBL CLIT(HHS!

A. syredefet 1. Gargseveiseie STULL GUM(HeIT
B. Lui GLreniol 2. UL LIQLDLD
C. Ga60L1610 3. mflad urd
D. soodeiles oifleld 4. pepliylr undleel
A B C D
a. 3 4 1 2
b. 4 1 3 2
C. 2 1 3 4
d. 3 1 4 2
e. allewL  Ggflwaleoenso

69. Arrange the following four steps based on Wallas Creativity Theory

1. Incubation 2. llumination

3. Preparation 4. Verification

a.3,1,24 b.3,2,14 c.23,14

d.2,14,3 e. Answer not known

oaumeverd  eleiilieuflelr i bESHHMeT  CHTUTIgeTy  SDESTEWID  BISIE  LIQHEMEN
auflewaF LB SHHIS.

a. o_eieuenitd b. 2 _sitQenmefll GamenmigHed C. QGBI

d. sfunigseo e. alewL Gafualsdensy

70. Which of the following is incorrect?
As rain drop descends towards earth
1. Up ward air drag forces increases
2. It comes with zero acceleration
3. It comes with zero net force
4. It comes with zero terminal velocity
a. 4 only b.1and 2 c. 3 only
d.3 and 4 e. Answer not known
SIPHHTEHTLIOUMBBIGT HOUBTE FnByl 61517
wenpshgiel yileww Crrésl allupd Gurg
1. Gwed Crréslw sTBHLI DWelmassT OigHsMELWD
2. &l (WHEHBHSBILET aU(HLD
3. QwrsHs alenguler WHL SFHWL 6T 6uHLD
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4. pppl HewFBausHHer WA F LGS
a. 4wl @w b. 1 wmimnb 2 c. 3 B
d.3w 4 e. alenL  GaMuwialsvemnev

Which of the following statements is/ are true about the Council of Ministers and the
Cabinet?

(i) A Cabinet is the head of one or more departments

(ii) The Ministers meet jointly and frame the policies of the Government

(iii) Ministers of State and Deputy Ministers do not have a share in the formation of
Government policies

a. (i) and (ii) only b. (iii) only c. (if) and (iii) only

d. (i), (ii) and (iii) e. Answer not known

SImFFTHeT G wBpld CsUel OQummssHeauemy &6 OCaTHEBLILIL (heiTem eSS WLnIS6T 60
axl / etemeu gflwimenig)?

(i) @ Galel. SMWEFT QDI DleVevd DSBS CLBULL HINBEHETNET SHEneveUT

(i) owwssFTser gmiLTes Calba DIFTEISHHE OBTETNHHMEN 2 _(HeUTdHESHB BT TH6I

(iii) opFMESSHE  CBTETMHBMET 2 _(HEUTHGHHD SHMeVMD  (BITRMEIE)  SIWLOFFT
wBpId Urd (Hevem) DImEFFTHEHDHESG LRIEG SHenLwTgl

a. (i) wmpib (i) WL G b. (iii) L B c. (ii) wpmid (iii) L GLb
d. (i), (ii) wBpd  (iii) e. alewL Oz Muwalsbenso
Match the following:
Match correctly the borrowings to Indian Constitution from other countries:
A. Parliamentary Democracy 1. USA
B. Fundamental Rights 2. UK
C. Directive Principles of State Policy 3. Canada
D. Federation 4. Ireland
A B C D
a. 3 4 1 2
b. 2 4 1 3
C. 4 2 1 3
d. 2 1 4 3
e. Answer not known

SDHEWILUBemBL  QILIT(HEHHIH:
Umprhseiedmba Bhaw idwevemoliiBp CuBLLL L auBenp FRwTsl CUT(HHHs:

A. UTITEBLOGIB  (LPemD  LOSSENTTL &) 1. &6wfesT

B. owpliuen. o fenioselt 2. BRIdeonhg

C. aya Opplwessd Gsm umhase 3. @eLm

D. gal’Lm’ & 4. SHWITELUTHG)
A B C D

a. 3 4 1 2

b. 2 4 1 3

C. 4 2 1 3

d. 2 1 4 3

e. allewL  OFflweaiedensv

“Desai Award” is associated with

a. Grants b. Autonomy c. Language

d. Trade e. Answer not known
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“Capamuwl al(mal” WLer OFHTLTLemL WG
a. LomeollWmISeT b. gesreunm & c. Quomyp
d. argssid e. alewL Gxfwailsdensy

Which of the following statement/s is/are true in connection with Fundamental

Duties?

(i) To promote harmony and the spirit of common brotherhood amongst all the
people of India transcending religious, linguistic and regional or sectional
diversities; to renounce practices derogatory to the dignity of women

(i)  To develop the scientific temper, humanism and the spirit of inquiry and reform

(iii) Maintain just and honourable relations between nation

a. (i) only b. (ii) only c. (i) and (ii)

d. (i), (ii) and (iii) e. Answer not known

SIQLILIDL HLMIDH6IT OHTLTUTE LISTaIbHD FnBBIBeaNed 61gl/ 6Temel 2 _amTenOUITeTen6u?

i) g, OCwrY wBEID FTHAW Sevevd fle CupLTBSEPSES DILTBULL bW LDSHS6I

HHUTL  BevelledbsD, OuTHauTel FCETHISHBHIUGHMS meHGHalHHe0 LHBBID ClLewSerT e

senienWHm®H DQPOLBGSHBHID LILPSBHISM6T MEHa[HSH60.

ii) oflelwed eriumeen, wellg GCHWID, elgTymer WHBEBID FTHHDHSH o awiTe DdweBems

QUTTHHIH  OBIT6T(ETHH6L

iii) pTBBEpSHHMLCW Hwmwiomer BEBID QEeTTLTeT o _Be|sEament! GLamIgeD

a. (i) L Bw b. (ii) o (Bib c. (1) wppid (ii)

d. (i), (ii) wBpib (iii) e. alenL QFfwaisoenso

What is the full form of CERC?

a. Customer Education and Research Centre

b. Consumer Education and Research Centre
c. Consumer Education and Relief Centre

d. Customer Education and Retail Centre

e. Answer not known

CERC @it alifleunebasld 6res16ur?

a. aUTQSHENSWTNT Heval LOBEBID SITUIFS LoD
b. BTGt ®Heva BBID SLPTUIFS LOWID

C. BIBTCNT Heval LOBEILD HleUTF6mT emLOWILD

d. eumgdenaswimen sHevall OBMID FeL6VENHB  EHLOWILD
e. allewL G fluwalsvenso

Identify the wrongly matched: Major scandals in India
Year Description

1.1994 - Telecom Scam

2.1995 - Hawala Scam

3. 1996 - Fodder Scam

4.2001 - The Tehelka Scam

a.1only b. 2 only c. 3 only
d. 4 only e. Answer not known

SHOUBTET CLIT(HSHHIHEN6D H6wILSI5:
BpFHwimaled BLbg Guflul empedse

QU(HL_LD allend 1D

1.199%4 - OzmTemev OHTLITL 261pe0
2.1995 - QMBEUTEVT  26TLED

3. 1996 - FEUGT  26T|P6V
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4. 2001 - OHBEOBHT 2e6r|P60
a. (1) w’ @ b. (2) w G c.(3) wL @B
d. @) w' @ e. alenL  GaMuwialevemev

77. The Supremacy of the Constitution is maintained by
a. Independent Judiciary b. Parliament
c. Co- operative Federalism d. Procedure established by law
e. Answer not known
ogmwlitear Guwearemnio @&e cpeold UFTOFSSILIGSBSI
a. &FHHATIOTRT HAHHHINB b. L_m@mpLoeimsLb
C. gnl_(hmaieomer &nl LTl & d. slLID auGHsIS CBTHHS HL (LB
e. allewL G flwalsvenso

78. Though the country and the people may be divided into different states for the
convenience of administrative activities, the country is one integral whole?- Who said
this?

a. Rajendra Prasad b. Jawaharlal Nehru

d. Vallabhbhai Patel e. Answer not known

piieutad  GgweounGselear eugdHdstes HIGWL  WHHEHD  GCeusiGaup  LOTHEVHRISETTSL
Wfdasiul Lmeoid, BTEH 1L (LPIPMWITS Q(HRISenemIHSH 6Tl 616 Fnmligl uwim?

a. Qb Lyansd b. meuamiteomed Gh(m c. ibgmell oIDBLIGHHT

d. eusbsouimus Ll GLed e. aleowL Oz fwaisiensv

c. Bhimrao Ambedkar

79. InIndia the real executive authority rests with
a. The President
¢. The Council of Minister

e. Answer not known

AhFHwraled o eamienwre DIHSTID Wil CuUTSHhe STeurlLBGSBH

a. GYWIHS HE6VeUT b. g0 wpHHM C. OIMDFFT G
d. e uewilwmenit e. alenL  Gafuweaisvensy

b. The prime Minister
d. The Civil Servants

80. Match the followings (with respect to Directive Principle of State Policy):
A. Socialistic principles 1. Uniform Civil Code
B. Gandhian principles 2. To protect and improve the environment
C. Liberal principles 3. Community development programme
D. New Directive principles 4. Equal pay for equal work for both men and women

A B C D
a. 4 3 1 2
b. 3 4 2 1
C. 2 1 3 4
d. 1 2 4 3
e. Answer not known

SSHHEWILaBMBL QUTHSHHIH: (DIFa UPST. (B OBHSH6)

a. QUTGHIOL WD OB T6ITNHH6N
b. srmhHuid CsmeTenssein

C. HMIT6NaUTSH  OlBT6ITenSHSH6I

d. ydw aufam B Cmplpammss
O T6ITeN B 6T

A B C D

1. QuTal GemF FLULID

2. FBBIF@LMe GbLBSHSHIHE0 LOBBID
STULITHMISHED

3. Fepsd Gubur (s HILLb

4. oot 0BBID 1H6ToHE FGamendE
FID 2AHUID QULPMHIGHHFH6D
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a. 4 3 1 2
b. 3 4 2 1
C. 2 1 3 4
d. 1 2 4 3
e. alewL. Gafweledenso

81. Match the following Statement I and II:

A. Heart and Soul of constitution 1. Article 24
B. Protection in respect of conviction for offences 2. Article 23
C. Prohibition on human trafficking and forced labour 3. Article 20

D. Prohibition of employment of children in factories etc., 4. Article 32
A B C D

a. 1 2 3 4
b. 3 4 1 2
C. 2 1 4 3
d. 4 3 2 1
e. Answer not known

ulwed I wmpid uluwesd I sfwrsl QuUTmSHSHIS:

a. SIFlweoamolILler GSHUID BBID  SLEvTLOT 1. alg 24
b. GBBEIBEHHBTET HIL N6 QFHTLTUTET LITSISTLIL 2. algl 23
C. LallHd SHLHHNIHE LBBID DYMWSSMSBBE SHemL

al&HesLILL (BeiTengl 3. alg 20
d. QzmfBgremevseied GLHmSH6T OHTINeOTETTHETS
DIDTHHH Fnl T 4. alg 32
A B C D
a. 1 2 3 4
b. 3 4 1 2
C. 2 1 4 3
d. 4 3 2 1
e. alenL  Ogflwailsvensv

82. Pluralism is the keystone of Indian

a. Culture b. Democracy c. Religion
d. Federation e. Answer not known
USI(LSHHSHEMID 616e0TLISHI EHaHU GOLOEVEHET  HLGLD.
a. HEUTEFFTTSHSH6H b. smeBTuIsd 6 C. LSHSH 60
d. galLmdlufen e. alenL  Gafweaisvenso

83. Which of the following are correctly matched:

1. Habeas Corpus - To command

2. Certiorari - To Certity

3. Mandamus - To bring the body

4. Prohibition - To prevent

a. 1 and 4 are correct b.1 and 2 are correct c. 3 and 4 are correct
d. 2 and 4 are correct e. Answer not known

SLbaU(hHeuaTaUB®IeT slemer Fflwims Qurr@g,g,UUL@me@

1. & GameonT BHEIGLITTen 6w B L emenmuiL6d

2. O (B 2 _MISSHID HAHLIGLITTEN 6T - Fmemergge0

3. QFWNIBISSHID BHAHLICUTTeN6wOT - QHEUMTS OBTERI(H  QU(HH6E0
4. soLLBISS BHIIGLITENMT - 5BHB60/ BBIHS60
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a. 1l wppid 4 sflwrerenel b. 1 wBmd 2 slwreeney c.3 wBEID 4 Flwmeenel
d.2 wBpb 4 slwreiee e. allewL  Gaflwalsvenso

Who among the following called the ‘Preamble” of the Indian Constitution as ‘Identity
Card of the Constitution’?

a. Jawaharlal Nehru b. Sardar Patel c. N.A. Palkhivala

d. Subhas Chandra Bose e. Answer not known

OhHw  DIFweomolle (PHeMImW  “‘OIFluisd FTFAISHHE DlDLWTT S enl” 6T6Isl
SsTemlLBUaTHelle0 WTT npsluig?

a. ;euamsiteored Gh(H b. gt LGL6D C. 6T60T.6J. LIT6L&S6UM6OT
d. surerd FpHFHy Gumerd e. alenL  Gafweaisvensv
Match the following:

President Tenure
A. Fakhruddin Ali Ahamed 1. 24.8.1969 - 24.08.1974
B. V.V. Giri 2.25.7.1977 - 25.7.1982
C. Neelam Sanjeeva Reddy 3.24.08.1974 - 11.2.1977
D. Zakir Hussain 4.13.05.1967 - 3.05.1969

A B C D
a. 1 2 3 4
b. 4 3 2 1
c. 3 1 2 4
d. 1 3 4 2
e. Answer not known

GYWI&ES SHENEVUT ugald HTeod

a. UsHBHT el DIHLOF) 24.8.1969 — 24.08.1974

b. af.af.&M
C. Heold FehFell OFLlg
d. ;gnaSt 2 _Ggar

25.7.1977 — 25.7.1982
24.08.1974 — 11.2.1977
13.05.1967 — 3.05.1969

e

A B C D
a. 1 2 3 4
b. 4 3 2 1
c. 3 1 2 4
d. 1 3 4 2
e. alenL. Gafwealedenso

“The Right of Citizenship cannot be taken away from a citizen except through an
express Parliamentary Legislation”. This is related to

a. Ebrahim Wazir V State of Bombay Case

b. Hukam Singh V State of Punjab Case

c. M.C. Mehta V Union of India Case

d. Ramachandra V Union of India Case

e. Answer not known

“@umeurgdl  Gluwflenwenwl BTLTEHLSBF FULHHer cpeoBoweans GCoumpl euenduied LKoHHS
FLIG". DHFmBH THIL 0T QHTLTLemL UIGI?

a. @b eudT V ubumul &5a eupds,

b. amésd fAm V uehaml oa eupdsd

C. a1b.f.CwHHT V @hHu el aulpsHs

d. gmoganpadyr V. @hHul @emiuid eupdE
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e. allewL G flwalsvenso

Assertion (A): Judicial activism is inherent in judicial review.
Reason (R) : The scope of judicial review has extended beyond the domain of
rights to include executive policies and legislative in action

a. (A) is true but (R) is false

b. Both (A) and (R) are true, and (R) is the correct explanation of (A)

c. (A) is false: (R) is true

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

e. Answer not known

amp (A): pFHégmpuile BFGFwWeLTG BAUILETTUIAIIOT 2 6Tehemmha(HLULGS.

aryenid (R):  Baliuemymuie) Gpress 6 UTLIGILIGOED60UWLITEIT S o flenip 6TEMILD
CrwevgamsbIHBGH CuBOsFaip  Smwssrmeuular s CoTeTemesasemenuLD,
FLLLOWBBID Siemeusbeiar GFuweleiamwemuiuld Bameanhdid OCaTamn BeiTend.

a. (A) o _awenin: gyemmed (R) seum

b. (A) wipd (R) @resipGw aM: (R) eaiug (A) alBsrer Ffwmer alendaom@ld

c. (A) saum: semev (R) 2 ewrenio

d. (A) oppid (R) BrewiGGw af: eemed (R) aiaiiug (A) alBsren Fhwimer alendaOTH g

e. allewL  Gafwalsvenso

Match the following:
Doctrine Nature / Tendency
A. The Doctrine of colourable legislation 1. Supremacy of Parliament in legislation
B. The Doctrine of Non-Obstante Clause 2. Competeting entries interpreted liberally
and need harmoniously

C. The Doctrine of Harmonious 3. Determining the true character of
Interpretation legislation
D. The Doctrine of pith and substance 4. Tendency towards centralization
A B C D

a 1 2 3 4

b 4 3 2 1

C. 3 2 1 4

d. 4 1 2 3

e Answer not known

SpFHemILaBens CUT(hHSHHIS

CETeiTen® gateno / Gurd@

a. aurby &LbH FULD Suppid Gsmurh 1. sl wuBBIeuded LITTTEHLOGITBG S 60T
o Wihd Hlenev

b. sewuleveond g LblwBmid G un® 2. Gum’yelensd &1L 1IOWIMBeD
SITITETLOTSGLD, E6u0TE B LOTEH6LLD
allendalILIBIS

C. Benidmoner alendsdhdler Gsriumb 3. FLLOWBBele 2 6uoTenLOUITes
G SHMBHH SHTOTNLILIS]

d. eugeud BEID o eiTendsd BT UTH 4. eowWILGHHMe CHTEHHF OFs0eID
(CHEG))

A B C D

o n o
RN WN

3
2
1
2

W =

1
4
3
4
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e. allewL G flwalsvenso

Consider the following function of the process of the Parliament and choose the correct
answer:

1. Money Bill represents the will of the people

2. Delegated legislation is not subject to review of Parliament

3. Power of Amending the provision of the constitution rests with the Parliament

4. The Parliament can assume legislative power exclusively referred for the state subject
a.1land 2 only b. 2 and 3 only c.4and 1 only

d. 3 and 4 only e. Answer not known

UTJTE@HLOGTBSH ST SIDHHEWIL.  Licwldemend SHhHHH, Flwmer alenLamwid BHiboldHBHDHMLD.

1. uewr WGFTHT LOSHSH6IT aﬂ@uug;emg) ﬂg@ﬂ@ﬁ@@muu@@@ﬂm@

2. @uyaliys sLb UTITEHOD WEI SYINDHE 2 L ULLSI Si606

3. opFomwiLysF FLL 2 pliysmensd HmSIHD CFUDd  HBTIHMSL  UTJTEHLOGIBLD
OBTEWNY(HHSHBS.

4. LMIT@DHLOGIMBLD, LOMHEVRISEHSGTW FLULIOWMBBID 6T60meVEGH6T HBGD DHESTTHBH6 gl
FLLID SUBB (PIQUD

a. 1 w@pb 2wl G b.2 wBpb 3w’ G C.4 wBmIb 1 W G

d.3 wBmid 4 w G e. alewL  OgMwalsdensv

How long can the Rajya Sabha delay a Money Bill?

a. 14 days b. 21 days c. 31 days

d. 10 days e. Answer not known

LOMBl6VMIGEMEn6  LiewT LOBFTHTeneU 61616U6TT6 | HTEUD U] SHTLOSLILIBEHSH60TLD?
a. 14 mr e b. 21 B sen C.31 B el

d. 10 B el e. allewL Oz Muwialsdenso

The least Prime Number is

a.0 b.1 c.2 d.3 e. Answer not known
WOFFm LST 6T6mT LG
a.0 b.1 c.2 d.3 e. alenL  Gafuwalsvemev

Find out the missing figure
alBULL euemIUL SH0d SHewi(BLIg

d. e. Answer not known

Various positions of a dice are given below. What will be the digit on the face opposite
to the face having digit 1?

@ usmLuler Goupil L mevevseT &H6D CaETBHSILL (Beiener. 66wl 1 6B USBHIHBG
THTUSSSHHBE THTUSSLD 61hG 616wl 6uJ Fn(BLD?

Ve
P 67 7

I 1l mn
a.6 b.5 c.4 d.3 e. Answer not known
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The next number in the following sequences:

0,6,24,60,120,210?

a. 240 b. 290 c. 336 d. 504 e. Answer not known
Weiteupld QBT Touflenauien SIBSHSH eTewt

0,6,24,60,120,210?

a. 240 b. 290 c. 336 d. 504 e. alewL Oxfwalsdenso

Find the sum of
1+3+5+.... to 40 terms

a. 800 b. 4000 c. 1600 d. 8000 e. Answer not known
1+3+5+.... 40 2_miiys6l eueny
a. 800 b. 4000 c. 1600 d. 8000 e. alewL OgMwalsbensv

The next term of the Alpha numeric series
275,7Y7,14X9, 23W11, 34 V13, is

a. 27024 b. 45U15 c. 47U15 d.47V14 e. Answer not known
275,7Y7,14X9, 23W11, 34 V13 aieti3  elewiGemi(1pdhg Opm_fled DiBHs 2 miri]
a. 27024 b. 45U15 c. 47U15 d.47V14 e. alowL Osfwalsveney

‘A’ can do a certain job in 12 days. ‘B’ is 60 % more efficient than ‘A’. How many days
does ‘B’ alone take to do the same job?

a. 8 days b. 8 2 days c. 7 days

d. 7 V2 days e. Answer not known

‘A" @ Gousmevewws 12 BT &efed woglumt. ‘B’ eigdiueum A g el 60% FHmeniowimereut,
aefed 9185 Geuemevenwt ‘B’ eiggHement BT SH6fled (LpIgLiLITiT.

a. 8 [BIL el b. 8 V2 i seir C.7 BT &er

d. 7 V2 prlsei e. allenL  Gafweaisvenso

If 48 men working 7 hours a day can do a work in 24 days, then in how many days, if 28
men working 8 hours a day can complete the same work?
a. 38 days b. 36 days c. 35 days

d. 34 days e. Answer not known

43 oemidel @ Geuemevenw! HTOeNTaIBISEEG 7 wewfl GBIb Geouemev OFUIH 24 BT H6ri6e0
wluT  aefled 28 oemideT I6H Ceusmevenw! HTOeMTEIBIGEG 8 wewil  GBIL  Geuemsv
CFuIHTeL SIeIGMMeVENII 6THHEMEN BT H6M60 (LPIQLILIT?

a. 38 [BIL&e b. 36 mT el C. 35 BT &6l

d. 34 B sei e. allenL  Gafweaisvensv

If the radii of two spheres are in ratio 1:2, then ratio of their surface areas will be

a.1:2 b.1:4 c. 1:8 d. 1:16 e. Answer not known
@i Camenmisefe Sumiseia aldlsd 12 sealed Sleumple UpLLTLILEaier alldsib.
a.1:2 B. 1:4 c. 1:8 d. 1:16 e. alenL  GaMuwalevemev

A cubical tank can hold 64,000 litres of water. Find the length of the side in metres.
a.40m b. 80 m c.8m d.4m e. Answer not known

QRMH BT FHT 6lgel BHTHOST puimerdl 64,000 6 BT CETeTEpD 6aled, DibHH CHTLI1guiles
USSHH6 HenhHmad LB Lfled Hmeu.

a. 40 8 b. 80 15 c.818 d. 418 e. aleowL  Oafwalsbensv
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The amount is to be repaid on a loan of Rs. 12,000 for 1%2 years at 10% per annum
compounded half yearly is

a. Rs. 13,891.50 b. Rs. 12,888.50 c. Rs. 13,210.50

d. Rs. 12,955.50 e. Answer not known

eiheEG 10% sl Beoully aigsHdHed QBT UIBHSG @ (WD HeubHLLILBLD  6refled
sLOMBLIOUBB oh. 12,0005 HHOU CFISFHILGLD OSHTnS

a. ep. 13,891.50 b. 5. 12,888.50 C. ap. 13,210.50

d. . 12,955.50 e. alenL QxfNwelsvenev

Find the compound interest that Rahul would receive if he invests Rs. 8,000 for 18
months at 10% p.a, the interest being compounded half-yearly.

a. Rs. 1,061 b. Rs. 1,160 c. Rs. 1,260

d. Rs. 1,261 e. Answer not known

SIOTWTEIYBEH @H (PdB aully Fnl (B (Wempuled Jr@Ge eh. 8,000-Hewd 18 OTHMIBEHDHS,
10% oewih aully aipd COaTBUURD (PHeSB CFUISTT. DaUbHEGHDH S SGWD gl B el lg
eT6\l6u6TT6Y ?

a. Rs. 1,061 b. Rs. 1,160 c. Rs. 1,260

d. Rs. 1,261 e. alenL OQxNwealsoenev

If a principal becomes Rs. 17,000, with simple interest at the rate of 12% per annum, in 3
years, then the principal is

a. Rs. 11,000 b. Rs. 11,500 c. Rs. 12,000

d. Rs. 12,500 e. Answer not known

om oFteig, 12% sai el eissdHe 3 emiBaeied ap. 17,000 5  OIBIEGTBSH
GTENGD, SIFENEVE  HITCIIGH.

a. Rs. 11,000 b. Rs. 11,500 c. Rs. 12,000

d. Rs. 12,500 e. alewL OHfwaleenen

Which rate of interest, yields an interest of Rs. 200 for the principal amount of Rs. 2,000,
in one year?

a. 10% b. 20% c.5% d.15% e. Answer not known
abd ey aiFHb, SIFeL h.2,000-5@, @ITMIBHHESG H.200-83 Helleul QUITSE SH(HLD?
a. 10% b. 20% c.5% d. 15% e. alenL QxfNwealsdenev

In how much time will the simple interest on Rs. 3,000 at the rate of 8% per annum be
the same as simple interest on Rs. 4,000 at 12% per annum for 4 years?

a. 6 years b. 7 years c. 8 years

d. 9 years e. Answer not known

OIF60  15.4,000-5@&, 4 — pWIBBeMed 12% aul'ly aipsHed HwLEGD Halau iguid, DIF6ed
.3,0005&, 8% ey aissHed HMLbGD Hal e iQuid FOOTE BHEBGD 6160, OIH6T
SLEOT(BH6IT 6TaIAITOUTS BY(HbGLD?

a. 6 SEI[HSB6I b. 7 sywIGsa C. 8 SWIBB6I

d. 9 syemiBasei e. alewL OHfwaledenew

The ratio which of the following is not an equivalent ratio of g

a. — b. 2 2 d.2 e. Answer not known

15 18 6 28 9
S o s6itenn 6hG ONHHLD 72 o1 A& BHHHBEG FowTer aldHHD DLOTHITH EHIBEGLD?
a. = b. 2 .2 d.2 e. alewL OFfwaledenev

15 18 28 9
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107. Kumaran has Rs. 600 and wants to divide it between Vimala and Yazhini in the ratio

108.

109.

110.

2:3. Who will get more and how much?

a. Vimala gets Rs. 240 more than Yazhini

b. Yazhini get Rs. 240 more than Vimala

c. Vimala get Rs. 120 more than Yazhini

d. Yazhini gets Rs. 120 more than Vimala

e. Answer not known

Gyl ah. 600 2 6fTengl, iGHmer aloeor LBBID wrfieldsd Luled 2:3 6
aldHHFHe0 LUHTHGHelbHPIT  elefed Emeufled WMHSBE UMD DHFBIOTHE  SHewLSEGHWD?
616116161T6Y 7

allsurelBg wmflelenw ol . 240 DIHBD HeL SHEGLD

wmpelss@ aleomenal el p. 240 DIHBD HeML SHEGLD

alweoralBg wrpelemw el p. 120 SiFHsbD FHeL G

wrfleldg aleumenet el h. 120 SIFHsD HewL @G

alemL  OFfuialeoemsv

ocan o

The ratio of the volumes of two cones is 2 : 3. If the height of second cone is double the
height of the first cone then the ratio of their radii is

a.2:3 b.2: 43 c. \3:2

d.5:3 e. Answer not known

B Smblle ST Sleeysaial alFHHD 2 : 3 elaied BFewiLMTeudH FnlblledT 2 WFD (LPHEOTeUSH
gnblielr o WrHmsLIGLTe0 Bh L MG elefled, SlauBplen QuImisefler alalsid SGLD.
a.2:3 b.2:\/§ c.\/§:2

d.5:3 e. alowL Oz fwalevensy

Malarvizhi, Karthiga and Anjali are friends and natives of the same village. They work
at different places. Malarvizhi comes to her home once in 5 days. Similarly, Karthiga
and Anjali come to their homes once in 6 days and 10 days respectively; Assuming that
they met each other on the 1t October, when will all the three meet again?

a. 31st of October b. 30th of October c. 10th of October

d. 1st of November e. Answer not known

weoTelllfl, &TTHHBT WBHID Diehded FW cpeudd @61 HyTwdHmspsd CFibhs CHTHse.
Balser OeuaiGoum B mseilsd Gouemev OFUISEBeIT eTAIY 5 BT SEHEHES QH(LPMBUILD,
STMTHHST  BHID Diehaded (wewpGw 6 wBBID 10 BIL&HEHHGH Q@H (WOBUID, DIEUTHLD
albeEpHS aubH OFOaUT. DIOUTHET cpauBD, DIHCLIUT ISHD (PH6L [HI6T QEIBTHS
FHAHSHIMTH6N 6lenev, WewIBD DieUTHeT 61ICLTSHI QEIBTEF FhHAHILMTH6NT?

a. 9BGLTuT 31 Gz b. &166LTuT 301D G5 c. oBBLmUT 100 Gz

d. meubuir 1o Gxd e. alenL Gxflwalsdensv

There are four Mobile Phones in a house. At 5 a.m. all the four Mobile Phones will ring
together. Thereafter, the first one rings every 15 minutes, the second one rings every 20
minutes, the third one rings every 25 minutes and the fourth one rings every 30
minutes. At what time, will all the four Mobile Phones ring together again?

a.7.00 am. b. 8.00 a.m. c.10.00 a.m.

d. 11.00 a.m. e. Answer not known

Qb alllged HTETE DWeVCUFH6T o 6iTenerr. HTewe0 5.00 LOWNHEG, 616060T DIeN6VELIFHEMHLD
RABTH  PldHGD. DSSILIET  (PHe0  SlemevBudlwmeigl  ealbeurm 15 B misefed
@reniLmougl  SleweoBudlwmengl eeuGeurn 20 HOLmsaled cpapralgk  SieneuGuEWmerig
@alOeurm 20 mllmsefled cpeiprougs  DeweoCuFlwmengd @auQeur(h 25 B Misefeid
OBBID  HTeTHToUSH  DeweoCuFlwTeng eelbeumm 30 POl msealed @edddlamer eeolev,
Slmel BewIBD 6TICUTSE Q&TBTES @6VldEID?
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a.7.00 p.u. b. 8.00 p.Lu. c. 10.00 (p.L.
d. 11.00 @p.L1. e. alewL OHfNwaledenew

A book seller has 220 Maths Books, 380 Tamil Books, 420 English Books. He wants to
sell the books in a box, subject-wise in equal numbers. What will be the greatest number

of boxes required?

a. 10 b. 20 c. 30 d. 40 e. Answer not known

@ [HIev alBueneruTent 220 el HIeSMOTUD, 380 SO HITOSMeNU|D, 420 ShIFHe0
BITEOHMEMUID  MEUSSHIGTENTT. elbeur(h GuLiiguied LML euflengwiTed Fo  6TeuwTenTdemausd
(eI LML BHIGOSN6MUD evaudbHdl alBs  el[HySBIT.  ealed, DHBLULFIONS  6T5HHMEIL
CuLyseT CxpemeuliiBLd?

a. 10 b. 20 c. 30 d. 40 e. alenL QxfNwelsvenev

The L.C.M. of 78 and 39 is 78. Find their G.C.D.

a. 39 b. 48 c. 59 d.78 e. Answer not known
78, 39 syFweuppilen L&FFB OUTH WLMEIG 78 elefled WBLIOLMH QUTH UGHHSH SHTewt?
a. 39 b. 48 c. 59 d. 78 e. alewL OFNwealevenev

A man purchased a cycle for Rs. 600 and sold it for Rs. 480. Find the loss percent.

a. 20% b. 120% c. 60% d. 80% e. Answer not known

QUHAUT @(h Wgleuemngenw! ¢h. 600 &H@G eummidl @h. 4805@ IBBTEL gBUBL B FHaIHLD
EBIT6U01Eb.

a. 20% b. 120% c. 60% d. 80% e. alenL QHfweaisdensv
In a school, 820 are Boys and 60% are Girls. Find the number of Girls.

a. 1225 b.1230 c. 1231

d. 1235 e. Answer not known

@@  Uetelufed, 820 wrewieuTdEHDd 60% wTevalsEHD 2 6lleneit. 6lafled, OTERTRTH6N 68
6T6U0T 601 HENHENUIS  BHIT6UIIb.

a. 1225 b. 1230 c. 1231
d. 1235 e. alewL OHfwaledenew

A man has 532 flower pots. He wants to arrange them in rows such that each row
contains 21 flower pots. Find the number of completed rows and how many flower pots
are left over?

a.21,7 b. 25,7 c. 26,5 d. 19,2 e. Answer not known

@ pUfLD 532 yhosT gser o eenel. ST aflngdd 21 ybOsT pser aisbd DibHs
allpie. eaHdHewen euflengseT (WD GUBILD 6leTeyld LOBBID THHM  LHOSTL 19&He6i
BHLO(HSBGSLD 61D SHTEUTH.

a.21,7 b. 25,7 c. 26,5 d. 19,2 e. alewL OFfwaledenev

The appeal from the Federal Court of India established by the Government of India Act,
1935 was taken by

a. Viceroy of India b. Secretary of State for India

c. King of England d. Privy Council

e. Answer not known

1935 gpdlwevemoliF FULSHHTeL BBeulll L S LT g pHwamEHHe0 Gsd (Wwemmuilh
aI(hSHHH OFBmeTenill L Gl

a. @pHHUI MEUOTTUITED b. @bFuw SPFESHHIMB CFUICOTENTTED
C. BRSTHEH DIFFTT6V d. Gamoems SBHBTE0

e. alewL Oxfweailedensv
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Consider the following statements:

In the words of Dr. B.R. Ambedkar, Directive Principles of State Policy are the “Novel

Feature” of the Indian Constitution because,

L. These principles are in the nature of general direction or guidance to the state

I1. They embody the principles or objectives and ideals which Union and State
Governments must bear in mind while formulating policy and making laws.

Which is the statements given above is/are correct.

a. I only b. I only c. BothI and II

d. Neither I nor I e. Answer not known

BIDHBHEWIL  UTHSILIBIBM6NTSH  Her6.

Dr. U.ar. ouBusHasnm gPwsmeas “opg aufsmly GCarlurthser, SbHHu DFFLOLILNet

FLLSHS FHILL6D FaBTGh” ghleeipsmen,

L. Bema BT GUHSTLIQUITES SHIENLOHRHI6ETEITET.

II. HHW  OTH JFHH6T Hb FLLAIGMENLD, OCsTeTemdsmenid SuiBpid Gurg
Qe 2 _galwres SHEEGLD.

Beoumpled 6151/ sTemeu  FiflwiTereneu?

a. [ @ b. II w’ @ c. I wmpw IT b

d.Ib Bevemeo Il b Bevewev e. alewL OQFflwalsdensv

was the first Indian to go to jail for having discharged the duty of a journalist.
a. Bal Gangadhar Tilak b. W.C. Banerjee c. Lala Lajpat Rai
d. Surendranatha Banerjee e. Answer not known
T usHFHfdmawnenyns  UalwmMBBWUSBSTS FoBodEd  SI@INUILLL  (PHed
@bSHWIFTeUTT.
a. Umey SBIBTHJ H6e0bi] b. W.C. uneied C. 6UTGUT 6V Fmul
d. s@rpArmErs umeTed e. alewL Ozxflwalsdensv

“At the stroke of midnight hour when the world sleeps, India will awake to life and
freedom..” said by
a. Mahatma Gandhiji b. Jawaharlal Nehru c. Bala Gangadhar Tilak

d. Subhash Chandra Bose e. Answer not known
2 BB o PRAGCHTWIYHEGD Bbsd Helealgey CHrsHHGn, ShHWT  HeaTaien Ul
o WIGIM L SCHTHL oBE@ID SFFHHAHT 2 ewiTeyL I alPSHHIECETATEBHI 61601 SnpileuT.

a. LSTHOT HMhHI) b. meuamiteored G C. UTeL SMIBTHJ H6VHT

d. suted ghdy Gumerd e. alewL OHfNwaledenew

Assertion [A]: Muslim League celebrated the “day of deliverance” on 22 December
1939.

Reason [R]: All the Congress Ministries in the provinces resigned in protest of

the Viceroy’s announcement on India joining the Second World
War without consulting the Congress.

a. [A] is true but [R] is false

b. Both [A] and [R] are false

c. Both [A] and [R] are true and [R] is the right explanation

d. Both [A] and [R] are true, but [R] is not the right explanation

e. Answer not known

ammml [Al: (per06Sd 656 22 19&FIbUT 193960 ‘IS L| HTenTed’ OHTewIL QUi

sryemor@h [R]: Sbgwmailes DEUGDJTU] SpbFHuw Gxdlw STHRIST6
BOVHSTCOTASSTIOD  AbHwreyd  ByewiLmeugl o evsll  Gurfed
BmMHHHTH P ISHHHANMD  DIDDHSH LOTSHTE0T  SHIHISITerd
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DIJFTHIGBMHISEIT SHMRISH6IT eI IL Nevr GeueflliLmLra SIJFTHIS
QUTEILITS (BB allevaeurT.

a. [A] #f, syemed [R] Heuml

b. [A] wimib [R] @yemiGo Heum

c. [A] wBmib [R] @yewiGo &M, Guweubd [R] gflwrer alendsiomgib.

d. [A] wigb [R] @yemiGo &M, epemmed [R] sflwmer elendsid £i6060

e. alewL OFflwealsdenev

121. Where was Hindustan Republican Association reorganized into Hindustan Socialist
Republican Association?

a. Delhi b. Bombay c. Lahore

d. Bhopal e. Answer not known

BhBHIVBHTET  GYUWITS SRS 6hIGE QbHHEVSTET FOSHTD Fpd GQUISHE FRISLOTS LB
Frens s L &1?

a. #Heved b. wburul C. GUTHnIT

d. Gumumed e. alewL OxNwealeoenev

122. “Acharya Vinobha Bhave, was selected as a first Sathyagrahi by Mahatma Gandhi”
after he completed the speech on
On 17th October 1939, when he was delivering speech in a village, near Lucknow.
On 17th October 1940, when he was delivering speech in a village near Wardha
On 17th October 1941, when he was delivering speech in a village near Gandhinagar
On 17th September 1942, when he was delivering a speech in a village, near Kolkatta
Answer not known
60 BLOUBB &l LSHded 2 epummpiw el srbhLHluigset ugamiwm alGemur urGeu
SIUTHMET “(PpHe0 FSHHWTHTH” s1e1 CHTHOBHBSHDHTIT.

NN Y

a. 1939-b sewi oIBGLTUT 1710 G wdCammalBE@ DIHBL o 6i6em 6 HFTSHSH60.
b. 1940-b e @ECLTUT 170 Cxd aMTaTalIBE SIHFe 2 6Ten @h HIToSHH60.
C. 194240 semi(p QalibuT 17-0 CaHd &THHBEMHBE DIHH0 2 66N QH SHITDSHH 60
d. 1942-b syewih GaribuT 170 Csd CETLSHHTOIBEGH DIHBL © 66 H ST 60
e. almL G flwailsenso
123. __ Defence Minister of Interim Government of India in 1946, A.D.
a. Sardhar Vallabhbhai Patel b. Baldev Singh
c. Gopala Krishna Gokhale d. Bala Gangadhara Thilak

e. Answer not known
&, 1946-0 WG SLWLOLBB ML SSTe0 QbW FFler UTHISTIL DIMFSFTTS

Bobseu.
a. g eusdeoLmul LILLGL 6D b. wevBmel Fm
c. BGamumen Smagewt CamaBev d. uTevsmIBTHT Hevsi

e. alewL OFflwealsdeneo

124. As a lawyer Mohandas Karam Chand Gandhi, got his first fees of Rs. 30, but he

refunded that to his clientin ___ court.

a. Bombay b. Delhi c. Rajkot

d. Durban e. Answer not known

CuraasTed SIDFhHSH HMHFH, ST UPSHEBEHT (P&H60 6UIHLOTHIOTS CUBB H.30 emul
SHaTeIenL W S o HTIHHCH Gaigey Hmils CaTGHBHIAI LT

a. ubumul b. G606l C. ®yreBsm

d. Liues e. alewL OHfNwaledenew
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Which of the following about Kamaraj are true?

(i) He was arrested under Section 74 of Salt Act

ii)  He was released on March 12, 1931

He came to be closely associated with Rajaji during the election of 1926.

—~~

—
j—_e
oy

~"

a. (i) only b. (ii) and (iii) c. (i) and (ii)
d. (i) and (iii) e. Answer not known
mmmgmﬁuammg'}@eb b FBDISET STOITT UBMEF FhlwTereneu?

ST o 1y Firw Ufley 74-1 S ewedH OFuiwiul L.
ST omTF 12, 1931-b ewih alBHemev OFuwIwLL L.
ST 19260 ouewih  CHTHele0 pryTdlL et  OBHSIOTH BevewihdH GFuIeoLIL (B

/-\,-\,-\
S s e
—.

—
j—_e

e N
~—

GUHSITIT.
a. (i) w @ b. (ii) wBpib (iii) c. (i) wpmid (ii)
d. (i) wBpib (iii) e. allenL O fwalsoensv

At London Museum, Dr. B.R. Ambedkar’s statue was attached with the statue of
a. Vincent Churchill b. Abraham Lincoln c. Karl Marx

d. Lord Bentick e. Answer not known

GUENIL 6T DIHRISTL AwssHHe0 LISLT L.oyT.owwbusstier  FHeweo wmmenLw  FlensoGuim(®
BememntHBLILIL (HEITeT G

a. a@GIoFaI. FTFHe0 b. syigsmbd edmises C. &MJ6L  LDTH6r0

d. Gueingmis 1Ay e. alewL OxNwealsoenev

British arrested Subash Chandra Bose on 24th October 1924 A.D. and sent him to

Jail.

a. Tihar b. Andhaman c. Kolkatta

d. Mandalay e. Answer not known

&l 1924-0 Wi SHCLIUT IgD 24-1b Bx8l, auTad gHFHy Gumerd omISIGOWITTED
B CFwu G FloBEFFTeNevdHEH SIEIILILILL L.

a. et b. ebsomes C. Q&BTLSHHHT

d. wrewi_Gev e. alewL OFflwaledenev

Match List I with List II and select the correct answer using the codes given below the
lists:

List I List IT
A. New India 1. Lala Lajpat Rai
B. The People’s Friend 2. Bipin Chandra Pal
C. Vante Mataram 3. Dadabai Naoroji
D. Rast Goftar 4. A.O. Hume
A B C D
a. 2 4 1 3
b. 3 1 4 2
C. 4 3 2 1
d. 2 1 3 4

e. Answer not known
ulgwed I o Ler uliguesd II gyt Qupgd), Ul UILEERSGHS SC 2 6ol OFHTGULN(HHS!
gflwrer allenLuilemend G fley Cauis.

U 1guied I U iguiev 1T

A. Py 8pHwr 1. 6UT6OT GUERLIZ FTUl
B. & dyeterd .. yewi 2. Uder gphdly umed
C. aupBs Loy 3. grgmurul GpenGymed)
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D. gmerol. Gam. it 4. ¢g.@.anuylb
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 4 3 2 1

d 2 1 3 4

e. alewL OFflwealsdensv

129. Match and choose the correct answer from the code given below:

A. Bala Gangadhar Tilak 1. Voice of India

B. Dadabhai Naoroji 2. Madras Time

C. Macaulay 3. Kesari

D. William Digby 4. Minute on Indian Education
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 1 3 2 4

d. 4 2 3 1

e. Answer not known
Ueteupenteumenml! GuT(hsHg gflwmer alenLenwd CHiTey Gauis.

A. uTev FHHRIBTHTT H6VHT 1. @bslwmaler Gred
B. srgmumus GrenGrred) 2. QoL gmerd ewL Lberd
C. QuésrGso 3. Bxafl
D. allebelwib 19811 4. @phFHws Heval GBIHD GBILILB6IT
A B C D
a 2 4 1 3
b. 3 1 4 2
C. 1 3 2 4
d. 4 2 3 1
e. alemL OFfluaisdensv
130. Match the List I with List II :
List I List II
A. Puli Thevar 1. Siruvayal
B. Marudu Brothers 2. Dindigul
C. Gopala Nayak 3. Anamalai
D. Yadul Nayak 4. Nerkattumseval
A B C D
a. 1 2 3 4
b. 4 1 2 3
C. 4 2 1 3
d. 1 3 2 4

e. Answer not known
uluied Ied o eiteneng L puied I o et GQUTHGHSHIS.

U iguied I U iguiev 11

A. yeds Campeu 1. fpieuuied

B. wma sCansyitsern 2. Hewi(BHHH60

C. Gamumey HTUISSIT 3. OIENEILDENGEY

D. wngied mrwisesst 4. OpmBaL BHLEFaIL
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W N RN
N RN WA
W W g

a
b.
C.
d.
e. alewL OFflwealsdenev

At which district conference, ‘Justice Party” was converted into ‘Dravidar Kazhagam'?

a. Salem b. Kanchipuram c. Vellore

d. Kovai e. Answer not known

‘pHSHFwneigl’ ‘HrmallLT Spsons’ 6bhdh GBI HHeO BLbHS WOTHILIQ60 LOTBBULLL g7
a. Ggeuid b. srehdlyyid c. Geuguri

d. Gameneu e. alewL OxNwealeoenev

Which of the following activities were associated with the Justice Party?

(i) It gave representation to Dravidian Communities in the public services.
(i)  The Government took over the power of appointing District Munsifs
(iii) Poramboke lands were not allotted to the people

a. (i) and (iii) are correct b. (ii) and (iii) are correct c. (i) and (ii) are correct
d. (i) and (iii) are not correct e. Answer not known
SLpSH eI UBMBIeT HabaL Fuller o ewienLowime LiewnlaeT 61gl7

(i) Qurgiiuemiseiey Hmall WsBEHREGL LITHHHHHeUD CETBLILS.

(ii) wrel L BHuHBmen Bubeb@Gh OuTpilienL HIFsThRISEL  6JBmIds6lsTeumrL gl.
(iii) ypBWUTHE Hevmhismen WHHEHSE PBIBSEH CFUILITIN EHHSIBI.

a. (i) w@w (iii) sAureng b. (ii) i @w (iii) sfwmers

c. (i) wL@w (ii) FRwreg d. (i) wL@w (iii) HeupTeng

e. alemL OFfluaisdensv

During the Quit India Movement in Tamil Districts:

(i) The workers and common people participated in the movement.

(ii) In Madras, the women observed Hartals.

(iii) The workers of Buckingham and Carnatic mill involved in the strike

(iv) The Madras port trust, Madras corporation workers participated in the strike.
a. (i) is correct b. (i) and (ii) are correct

c. (i), (ii) and (iii) are correct d. (i), (ii), (iii) and (iv) are correct
e. Answer not known

SO wreu’ L misefed GeustenemuwiGear GeueliCum BuidbssHHear Gurg

i) OaTfleoTeniTdel LOB®ID CUTHILSHET BbHH BUISHHH 6L HeVbHHIH OBTERIL 6.

ii) CFarenedt HHMev, CUeIH6T QUTHIBMMED HBISHHID OCFUISHE0TT.

1 LSS BIABTD BB STHTLET WeL CFHmiblevTeniTaeT Geuemev BIMISHHHH 6L FHLIL L GUIT.
CFeTemedl  HIMB(LPS LIGWIWLITETTHET LOBMILD ClFetenet LOTHSIL  LeniwmenTaeT Geauemsen
PBISSHH60 FHLIL L 6.

a. (i) wiEw & b. (i) wBpib (ii) wGw &
c. (i), (ii) wmpid (iii) ' G &l d. (i), (ii), (iii) wmpd (iv) &
e. alewL GFMwealedensv

vv

Assertion [A]: Extremism arose along with the Swadeshi Movement in Tamil
Nadu.
Reason [R]: The leaders of the Swadeshi Movement became Leaders of the

People, whose speeches and writings aroused the masses.
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a. [A] is true but [R] is false

b. Both [A] and [R] are true; and [R] is the correct explanation of [A]

c. Both [A] and [R] are true; but [R] is not the correct explanation of [A]

d. [A] is false, [R] is true

e. Answer not known

alpisSse0 [A]l:  56sd BussdHHIL 6T FHOWESH0 HaITaUTHIPD HM6w HTHBSUIGI.

amyewid [R]: F8pF BUWHD HEWEVTHET LDHHET HEMELAITH6NTS oM 6T, EeuTaerl e
Gu&asld 61(PHSID EHHmen eIWFFLBEF CFUISHSHI.

a. [A] &f; syemed [R] seum

b. [A] wmmb [R] &M; wignd [R], [A] elBsrer gfwmer alendasid

c. [A] wmmib [R] af; eyemmed [R], [A] aliarer sflwmer alandsd £i6060

d.[A] seum [A] &l

e. alemL OFfwalsdemnesv

Match the following Editors to their Magazines:

Editors Magazines
A. Thiru. Kalyanasundharanar 1. Deepam
B. Bharathiyar 2. Desabakthan
C. Bharathidasan 3. Vijaya
D. Na. Parthasarathy 4. Kuyil
A B C D
a. 4 3 1 2
b. 2 3 1 4
c. 2 3 4 1
d. 4 3 2 1

e. Answer not known
SpspeniLauBmiel uFflwiTeener SleuTaeler HDBEHL 6T CUT[HSHHS:

ST B
A. Hm.al.a. 1. gub
B. umgpgluwimi 2. Capausdbge
C. umygHargen 3. elgguim
D. mr. unigsamyg) 4. @UWilev
A B C D
a. 4 3 1 2
b. 2 3 1 4
c. 2 3 4 1
d. 4 3 2 1
e. alewL GEMwealedensv

Thirukkural says that it is a weapon that destroys the strength of the King’s army;
which is it?

a. Stringency and Punishment b. Harshly speaking and Tyranny

c. Anger and Tax of the Subject d. None of the above

e. Answer not known

LOGITENIEUENIS] LienLlellenoen! DINSGHD IS 61HI06UaTSH H(HBSGHM6T FnmISBH?

a. BBHEHOFTELMID SHETL GO LD b. s®ehGFTeID CaTEBRIGHTET Fub

c. dlenpd FHewmriGLIT(HEHLD d. GuBaranid eemaILD Sle06V

e. alewL OFflwealsdenev
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137. Which association later became justice party?
a. Madras Dravidian association b. Madras united league
c. Non-Brahmin movement d. South Indian liberal federation

e. Answer not known
b Slewoli LetenT BHHlbal fwms ormsiuig?

a. Gulgmed HymelL gmisd (GLgred HyTaller oCFTdGuiger)
b. Quigmed QpEIBmenhd dnlLewll (QOLITerd WenaTGLL 65d)
C. LgmoedT oieL6oTHTT @uidbsld (et - Ligmber (peuboewrl )
d. OsaibHu STTeTeUTs gl Ll (Fah Senguiat aluyed G Gyaer)
e. alewL OxMweailedensv
138. “___ Kaalam Karuthi Veruppil
Venduba vetpach cholal”
a. Gauge b. Taking c. Maintain
d. Avoid e. Answer not known

13

&Mool &(hH&H Geumitiiev

Gouamibu Geul LF GFTeLEL”

a. GPUUSHE b. SLeibal c. Qumenmba
d. elewerwipsbg e. alewL OxNwealsoenev
139. Match the following books with its author:

Book Author

A. Parthiban Kanavu 1. Suradha

B. Tamizh Solai 2. Tamizh oli

C. Thenmazhai 3. Kalki

D. Vazhippayanam 4. Thiru. Kalyanasundharanar
A B C D

a. 2 3 4 1

b. 3 4 1 2

C. 4 2 1 3

d. 1 4 2 3

e. Answer not known
BIeVHmeT Sleumpslerr S flwiTsEpLaT QUTHHSHIS.

HIT60 oy Ffluwir

A. uniigguent seey 1. &aysT

B. sflipg Gamemev 2. 0D el

C. Gzeinoentp 3. @60

D. eaufitiuwientid 4. FHm.al.s
A B C D

a. 2 3 4 1

b. 3 4 1 2

C. 4 2 1 3

d. 1 4 2 3

e. alewL OFflwealsdeneo

140. The Self-Respect Movement represented, the Dravidian reaction to liberate the society,
from which evil practice?
a. Religious customs, practices and conventions
b. Religious customs, practices and caste system
c. Religious conventions and caste system
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d. Religious customs, practices and superstitions

e. Answer not known

bd S UWPSES aUpSShISaNelmhe, Fopsdmd alGallusBaTs SHImallTeer swioflwmms
BWSHHMSH (LPeiTellene0lILIB S et ?

D& FLMIGD6I, FIDLNTHTUWMIGSET LOBBID OFLIEH6NT

I0FH FLMIGH6, FIDLNTSHTWMIGSET LOBBID FTEH DIGHLOLILIH6N

D& LOJLS6T LOBMID FTEH DIeDLOLIL|SH6N

D& FLBIGHH6T, FDLITSHTUIMISET LOBEHID CLPLBHLDLNSmSHSH6NT

alenL Oz flualsoensv

c a0 o

Which of the following statement about Thillaiyadi Valliammai are correct?

(i) She participated in the protest against the policy of Apartheid in South Africa at
the age of 16

(ii)  She worked with Gandhi in his early years

(iii)  She died during the anti-apartheid agitation

a. (i) is correct b. (i), (ii) and (iii) are correct

c. (i) and (ii) are only correct d. (ii) and (iii) are only correct

e. Answer not known

FHlevemeowimy eueiteflwibento LBYY FAlwmen SnBenBsd SnpIs.

(i) Qe lliTedsTaled Berl UTGUTLIYBE aHITE Haigl 16 auwdHed UBRICBHHHT

(i) sMpHACWTE SJbUBTSHD Gouensv GEFUIGHeT

(iii) @en1 UTEUILIYBE adIme BLbd CuIITLLSHHCNCW Bmba GumereuT

a. (i) eeug &l b. (i), (ii) @B (iii) &

c. (i) wmpib (ii) wi G & d. (ii) wmmpub (iii) w Gw &

e. alewL OFMwealedenev

~

Which of the following was organised to educate by the Madras Mahajana Sabha in
18847
a. Social Education b. Economic Education c. Political Education

d. Cultural Education e. Answer not known

1884-10 oyemi(h HImleuL L QoL gmerd LoaBTegen FUT, SHPEBMIL BB 6lend SHBLINUSBHTS
® (HeuTdHSUILL L GI?7

a. Fpsd Heval LsL HouSBHTH b. QuIeMTHTIS Beva LBl HOUHBHTS

C. oflwed seval Lol BousHBHTH d. seuonFamys BHeval LB HEUHBHTH

e. alemL OFfluaisvensv

The following is not a reason for organising the Vaikkom Satyagraha

(i) To restore the rights of the Ezhavas and other untouchables in Kerala.
(i) In Kerala the Ezhalavas and other untouchables were forbidden worshiping in
temples.

(iii) In Kerala the Ezhalavas and other untouchables were not allowed to enter into
the public streets.

iv)  In Kerala the British Government Banned the Kerala Congress

. (i) is correct b. (i) and (ii) are correct  c. (i), (ii) and (iii) are correct

. (1), (ii), (iii) and (iv) are correct e. Answer not known

DEFBTEID Benel GHID MEUSILD FHHAUTHTHHHBEG STT6RILOGV6L.

i) Gxyenmmaled BHHDH FLOITH6T LBBID BFHT HWL HHHTCHTT o flensemen WL L BHD

ii) Gayenmmaled o _e6ilem  FIAITHET LOBMID @) Hewl HHHTCHTT BCasmalas@d 6GlFeve0
SIWILDFH HSLILIL a606M6V.

iii) Gayemmelsd o 6fen  FpeUTH6T LBBID BFJ SWILSHHTCHTT  GUTSH B misefled
OIDILHHHTHMS HEWTYHH

-

o P

_
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(iv) eymdGeuwitael Gayent SRSV HmL CFUISMS SHEWIYSHII

a. (i) w Gw & b. (i) wBpib (ii) & c. (i), (i) @ (iii) &M
d. (i), (ii), (iii) wBb (iv) & e. allenL GFfwalsoensv
(This question and answer are to be placed before the expert committee for final
decision)

Valluvar rightly compared those saints who cannot control the mind and enter into
actions not suitable to their saintliness says the following;:

(1) Puliyin thol porththu Meithatru

(2) Puthar Marainthu Vaettuvan Pul Simil Thatru

a. Comparison (1) alone is correct b. Comparisons (1) and (2) are incorrect

c. Comparison (2) alone is correct d. Comparisons (1) and (2) are correct

e. Answer not known

sau  GeouLlb Lewi(hOsTemi(H, LTHMSH SILSESGD 6Uedlenoule060TDN, HEUSHHMBEL  LBLDLIT60T
SuUFOFWeOBMeNF  OQFuiud  wHGaLHrlsellear  GCFwemey  GUATEDHEUT 616TH 2 _6UENLDSHEITEV
allendbGHBIT. Bdbanmnsled

(1) yedwlenBspmed GuTdHgH GuouibsBmm

(2) ysf wepbs Gau Beust et HAOS SBHI

a. 2 _euenp (1) Wl B & b. 2 suenwaesi (1) wBmib (2) syl Brewihd Heupl

Cc. @ auamip (2) WL B & d. 2 eumwser (1) wBpd (2) s @yewi(d &

e. alemL OFflualsdensv

Idea denoted in the following Kural is

Aakaaru Alavittai Thaayinung Ketillai

Pokaaru Akalaak Katai.

a. The Kural denotes how bureaucrats should treat the people.

b. This Kural propounds that out Goal should be big in life

c. This Kural brings out the formation of Friendship

d. This Kural is deeply connected to the economic thoughts

e. Answer not known

SPHHTEID H(HBSGHMmeT OeualILBGHHID FhoHmermw CaiTe

s Senall L HTulaid GCsigevensn

a. @s@meled FHaTiseT QUIGZISSILD el  BLBSHIOSTeTen  CouewiBd  6T60IM
BTG Hen LIGeUTdIU|6Terng)

b. @s@meaied ampsmauies Qs CUNFTE BHmEHs GauaiBD 61aGs FHHMT 266Nl

Cc. @s@mefed HLUGHTeTEHH0 LBBW HbHemer LHeurdluleengl.

d. 8somefed QUImHMTHTIE FhHemen EHHHMBS.

e. alewL OFflwealsdeneo

Statement [A]: Peelipey Saakaatum Achchirum Appentanjch Chaala mikuththup
peyin.
Reason [R]: The Kural hints at stating that if a king considers his enemies as

small and weak and fight against them. These small and
considered weak will gather their force together to become strong
and powerful and thus defeat him. Valiyarithal chapter carriers this
Kural.

a. Statement [A], Reason [R] are correct, But the reason [R] is not a correct explanation.

b. Statement [R], Reason [R] are correct but Reason [R] is a correct explanation.

c. Statement [A] Kural is incorrect; reason R is correct.

d. Statement [A] Kural is correct; Reason [R] is incorrect.

e. Answer not known

apu [A]: “UelQuul smarBl DIFFBID SIILIRTL 6h
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aleWNlHe0  6TelIm

HHBMHHL  BHGmeT  OLIDOUBISBSI.  LD6IT6TET  LOBBEUTHEMEIT
eTeMweuOy &ty LIen & O\BTemIL_ M6V, SIUTHGIT Fnl L IDT&HF GHihal

AUBHSHTTHEETUITEIT6D H6iT 6UeSlenoenU!  EVPLILITEHT.

a. apl, [A] srgewid [R] sl eyemmed smyewid [R] sflwmer QummeT oiesim)
b. smm [A] sryewnd [R] &M anpmi [A] -eyé@, @myenbd [R] sfwmer Qurmer oyu@Lb.
c. apul [A] - &meT seaumreig, smyewid [R] sflwmerg
d. aamm [A] - @mper sflwneis, styewib [R] seuprerg
e. alewL OFflwealsdensv
147. Match
A. Iraththalum edhale polum 1. Avaranna Oppari Yankanda dhil
B. Irappan Irapprai Ellam 2. Irappir Karappar Iravanpin enru
C. Makkale Polvar Kayavar 3. Karaththal Kanavilum Thetradhar Mattu
D. Seerudai Selvar Siruthuli 4. Mari Vara Koornthu Thalaiyar Thulaithu
A B C D
a. 3 4 1 2
b. 3 2 1 4
C. 4 2 1 3
d. 4 3 1 2
e. Answer not known
QUT(HSHIS:
A. @150 F5HG Bumeyid 1. Seugeiiedn UL  WITHISERIL )60
B. @yliuet @yliumeny  6T6060TLD 2. @B syiunT @Jeusidlelr el
C. wssBem GumeLaT SHUleuT 3. 815360 Savaled CHBMTHTT LT (H
D. FmenLF Qaesvaum Fmigpie 4. 1omfl s SmThHmIUL HiEOL HSHI
A B C D
a. 3 4 1 2
b. 3 2 1 4
C. 4 2 1 3
d. 4 3 1 2
e. alewL GFMwealedensv
148. Match the following
A. Thaneer 1. Thoppil Mohammed Meeran
B. Karippu Manigal 2. Asoka Mithran
C. Kal Maram 3. Rajam Krishnan
D. Saiyvu Naarkaali 4. Thilagavathi
A B C D
a. 1 2 3 4
b. 4 3 1 2
c. 2 3 4 1
d. 3 1 2 4
e. Answer not known
QUTHSHHIB
A. sextewit 1. Gxriiied (LpsLoI LFTesT
B. afliy wewllsei 2. 9@zns 10&HH e
C. @ebL0yID 3. JTD &(HAR6uT6s
D. gmue) prBsred 4. FHevsaud)
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a
b.
c.
d.
e. alewL OFflwealsdenev

Who is praised (and celebrated) in the following quotation?

‘Vasana nadai Kaivandha Vallalar’

“Vaidhalum Vazhuvindri Vaivare’

a. Vallala Ramalingam Adigal b. Aarumuga Navalar
c. Paridhimar Kalaignar d. U.V. Swamynadhar
e. Answer not known

‘UFSN HENL MBEUDHSH GU6ITEMEVTT

‘meUSBTID  eu(pal&sns  emeueum@y’

6160 GUGITEITELTEN]T L|SLDHGHI LITQUIeUT uImiT?

a. 6UeiTened @IMOeImIBLD DIGSH6IT b. eymips BTaueVT

C. uNAHTH SHeMeVEHT d. o Geou. gmipTsHT

e. alemL OFfwalsdemnsv

Match the following.

A. Sarukkam 1. Seevaga Sinthaamani

B. Ilambagam 2. Bharatham

C. Padalam 3. Silapadhikaram

D. Kaandam 4. Kambaramayanam
A B C D

a. 2 1 4 3

b. 1 2 3 4

C. 4 3 2 1

d. 3 2 4 1

e. Answer not known

CuUT(HSHHIB

A. FmEHsD 1. Fous bFHToemnf

B. @evibusid 2. UMI&LD

C. uLeud 3. dleolIugEmyid

D. smewiLib 4. SIDLIJTLOWIGRTLD
A B C D

a. 2 1 4 3

b. 1 2 3 4

C. 4 3 2 1

d. 3 2 4 1

e. alewL OFflwealsdeneo

According to whom, the Harappan script is not alphabetical but mainly pictographic in
nature

a. J.P. Joshi b.S.R. Rao c. R.S. Sharma

d. N.G. Majumder e. Answer not known

‘amrliue  eI(WSHSIF6T DIE eauflewaliug eV LeTTed  FHHTeUATUIGOLIY DIMLDHSIETENSHI’
610G WIM(HeDL W Fniml?

a. Gm.9. Gmrag b. erer0. oy, g6l C. SYT.6l6r0. &M
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d. eierg). weSibgmit e. alewL OHfNwaledenew

Choose the correct answer

1. The author of ‘Chivaga Chinthamani’ Thiruthakka Thevar belonged to the Chozha
dynasty and he chose to become a saint.

2. Chivaga Chinthamani is the first Tamizh epic written in the form of “Virutham’

3. Thiruthakka Thevan is also the author of book, “Nari Virutham”.

4. Chivaga Chinthamani consists of 12 ‘Kalambagam” 2000 poem:s.

a.1,2 and 3 are right, 4 is wrong b.1, 2 and 4 are right, 2 is wrong

c.1and 2 areright, 3 and 4 are wrong  d. 1 and 3 are right, 2 and 4 are wrong

e. Answer not known
gflwrer alenLemwidh BHiTs.
1. Fasdbamoem] QuBplu $HpsHds5CHaT Camp s wydemmul Smbs  SHIBeUBLD
1}, 600TL_ 6T
2. FousdhamwelCu al(hiHHHHe0 DIMWHSH (PHeL SUODL GLIHRISTILIWLLOTEGLD
. FHHHHBHCHT Bfal(HhHIHID 6THINID HleneUWITENLD [HIT6D QETENBUILD EUIBNSlEMHETTEITT.
. Fousdhamoenll LeaTalfeni(h SHeubLSRISMETUD STl TUNJD LTLOSMETUD 2 DL WG|

3
4
a. 1, 2, 3 afl 4 sam b. 1, 3, 4 &M 2 seum c. 1, 2 afl 3, 4 geum
d. 1, 3 M 2, 4 ey e. alewL OxNwealeoenev

“Koorvael Kuvaieeya moiymbin

Thaervan paarithann paramby naadae”

in which poem do these lines appear?

a. Pathitrupathu b. Patinapaalai c. Puranaanooru
d. Aganaanooru e. Answer not known

“FnTBealed FHemeu@ul GiomuiibLilest

Gxpiteuemr Lmfigemwt LBy BTG

-6T60IB LML 60 D9 @ bOumId BHred e1g?

a. LuFBBILILIGSS b. wueriuTeney C. UBBTenmyl

d. 9pTars e. alew Qxflwaledenev

The literature that reveals Kanchi had become a centre of Buddhist learning is

a. Manimegalai b. Purananuru c. Silappadikaram
d. Ahananuru e. Answer not known

USSHHSHIH T He0allenowlonsd STehd DmbHmd ST (B0 Bevdhaluib?

a. weNGEmev b. uBBTETHI c. deoliugdamyid
d. o=pIEIH e. alewL OQFfwalsdensv

Which flower triggers the debate of accepting “Nedunelvaadai” as that of belonging to
“Agam” or “Puram”?

a. Palmyra Flower b. Neem Flower c. Fig Flower

d. Ixora/ Vetchi e. Answer not known

OBBHeLTML.  ‘DIHWT? LBLOT? 6160IB aleuTHSHHMBGHE HTTERILOTET LO6VT 61&HI7
a. ueuibyy, b. Geutby] C. 9I5F

d. Geur & e. alewL OxfNwaledenew

The Marathi fortnightly newspaper ‘Bahishkrit Bharat” was started by
a. Ambedkar b. Mahatma Gandhi c. Jyotirao Phule
d. Kaivartas e. Answer not known
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oITHHUIed  @rewi  auMSHHABEG @ (Wedp Geueflwm@d usHfenswmear  ‘Lasladdms
UTrSHeng’ O TLmIg w6

a. Bug e b. warHwrs SHTHSH c. Gmrglymen 1480

d. ewaeauTsmerd e. alewL OQFfwalsdensv

Which is the sub-plot that is not narrated in Silapathigaram?

a. Porkai Pandian Kathai b. Aadhirai Varalaru

c. Nalangadi Poodha kadhai d. Urvasi Saba Varalaru

e. Answer not known

FeOlILFHBMTHH0 QFTEOOLILILTSH FHenendbsmsd 61517

a. CuTBeNSLI LITERIQUIT HM& b. eyHewy euyevrm C. BTOMRIBMG LLHH HMHDH
d. eafteud &Tu euyeOTH e. alewL OFflwaisdensv

In the Thamizh literary world, what is know as ‘Pariksha’?
a. N. Muthusami’s Koothu-p-pattarai

b. Gnani’s drama troupe

c. Amshan kumari’s ‘Cinema Rasanai Kuzhu’

d. CS. Chellappa’s “Ezhuthu Ilakkiya Kuzhu’

e. Answer not known

SOD DevbHWF Gpedled LIFHaRT 6l

a. b. WPHHFTOWTE0 OBTLRISUILLL BTLSS G(1D

b. @prefwimed OHTLBIBILLL BT &H G(D

C. OIDAGET GHLOMITEL OBHTLMISLILLL  Flellom JFemeTd G (LD

d. fl.a. QFevevliLToUTEd ‘GBI BRIBLILILL 1(IDBIH BevdHuid @GP’
e. alemL OFfluiaisvensv

Who was the archeologist, who first excavated the Pandya’s Pearl market?
a. Nagasamy b. Caldwell c. K.V. Raman

d. S. Paranavitana e. Answer not known

abdHdH  OFTeoOummeT — gumFwmenT  (pHedled  LTeRNQUITHeNeT  (PHHIF  FhHenHemld
&eniBLIgSHSHTT?

a. [BIsFmo b. smeoH6aIe0 c. Bs.ai. Fmpesr

d. ererd. uyewIalHment e. alew OFflwaledenev

Reason and Assertion type:

Assertion(A): - Tamil rulers patronized Tamil and Tamil poets in their courts.
Reason (R): - The words mandram, Avai, Ambalam and Mandru were used for
Kings Courts.

a. (A) is true but (R) is false

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. (A) is false, (R) is true

d. Both (A) and (R) are true but (R) is not the correct explanation of (A)

e. Answer not known
AUIWMBISHSH60 LOBBILD SHTT6EWILD 6UMS:

aulupissHe0 (A): - SOs S AweniaeT SOD WLBBID SO  LeVETHMET  DIeUTH6I
SImeUUTD  DLBHTE6NT &HFH6IT.
smyenid (R): - IDFIBID, SlewEl,  SIDLIVD  WEBEXID ey CuTes  OFTBET  OIIF

Slemauuied LWSTLBHSHSLILL L S
a. (A) eetiugl o _ewien emmed (R) ereiug seupl
b. (A) v (R) Beweu Gyewibo 2 ewienw wBBID (R) ereiug (A) ufler sflwmer elendaid.
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c. (A)eeug seup (R) ereiug o ewienio

d. (A) wppd (R) Beweu ByewiGd o evewwwireng opemmed (R) eeiug (A) ulles  sflwimer
alleNbHID SI6D6V.

e. alewL OxMweailedensv

What basic need does [AY fulfill?

a. Water b. Clothing c. Housing
d. Food e. Answer not known

aiadie Sl g Copemeuenw! LTHd OFuisng?

a. SHeuwrewi b. eiemL c. ai®

d. 2 _ewiey e. alewL OHfNwaleenew

The major objective of Pradhan Mantri Krishi Sinzhayee Yojana (PMKSY) is to achieve
a. “More crop per drop” b. Agricultural credit available to farmers

c. Crop Insurance d. Crop Improvement

e. Answer not known

My wpdHfl Sfed dargtul HLsHar (PMKSY) Gprésd, s oiemLw Geuemi(hd?

a. 6aloeurm sleflb@d SHs LulT b. gmaisa alaFmulseEbd@Gd alaudTuld Sl 6
c. uulitéd smii® d. wudr euenired) / (eiBaimBLD

e. alemL OFfluaisvensv

Which of the following is/are correctly matched?

1. Minimum Wages Act - 1949
2. National Textile Policy - 2000
3. Steel Authority of India Limited - 1968
4. Workmen’s Compensation Act -1923
a.land?2 b.1and 3 c.2and 3
d.2and 4 e. Answer not known
£Lpa3a3rr6wu6muujm o151/ 6Temel @un@g)g)wrras 2 eiengl?
. GOBHHULF oamFHlF FULID 1949
2 Bl Meyefld GETeTmns - 2000
3. @bHw 6. Hmieued - 1968
4. Oxpmpeoreniaer @OUNIBEF FLULID - 1923
a. 1 wmynd 2 b. 1 wmmnb 3 c. 2 pmib 3
d. 2 @b 4 e. alewL OHfwaledenew

With reference to the government’s welfare schemes. Consider the following
statements:

1. Under the Antyodaya Anna Yojana, the food grains are available to the poorest of the
poor families at Rs. 2 per kg for wheat and Rs. 3 per kg for rice.

2. Under the National Old age pension scheme, the old and destitute are provided Rs.
75 per month as Central.

Which of these statements are correct?

a.1only b. 2 only c. Both1 and 2

d. Neither 1 nor 2 e. Answer not known

SITFTRISHHT HEVHH L L misemernll LB, Llareumd DIpidbamnasdamend SHe6u6nmuhIgbe.

1. opsBwrsur oeiter  Curmenm  FHLGHHT B, o M6 FHTONLRISET  JenDSH
GBULURIBT60 © 6ol gempHEhHEG OCamHiemn HEeom @&amIsE 2 aputwb, Sfd  SH6eum
REIMISHEG 3 HUTULLD

45| P age APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




APPES | 1)

Y RFHTRT
SHENNAL

2. BGxpAw wHBwnT guieyHwdh S LSHar S WPHCWTT wBBId HTUBCBTHEBE ah. 75
WLHHUW  @UIGYHWIDTS, GULHLUTEOTET  LOTHL  DIFHFHET  UPRIGLD CHTMHEGHD FnBHHEVTH

QUPRISLILGSBSI.
BIPHHWIL FnBEIH6Me0 elemeu &Fifluimeg?
a. 1 wl’ G b. 2 w' @ c. 1 wBmb 2 GyewiHn

d. 1 By 2 Bevenev e. alewL OHfNwaleenew

165. The whole village was treated as a unit as far as payment of land revenue is concerned.
The system is

a. Ryotwari b. Zamindari c. Mahalwari

d. All the above e. Answer not known

Bev aumeUTU! OFeUSBHIIMSL CQUIBISHHUMT (PLY SITOIPD QMH DIVEBTHS SHSLILLL Sl
SbS (P

a. Srwgeurf b. e C. LoamevLeUI

d. Cupenss masaid e. alol COafwalsiamsv

166. The rationale for setting up of UPPAL Committee is
a. For accelerated rural electrification programme
b. To resolve problems in cattle fodder
c. Integrated pest management
d. Survey of waste land
e. Answer not known
‘UPPAL" @uwemes SIenwliLusB@Gs SIyeunid
a. 2as LOEIOWITSHSHE0 FHLGHMSHSH SIfSILGSHSHIMSI
b. stebpmL Fauen HbBeOBMETSH HThH
C. rEFmanbd LEFSF Geomewmieno
d. sl Peomismer uia] OFuIaIS
e. alewL O fweailedenev

167. Who is the Chairman of fifteenth Finance Commission of India?

a. N.K. Singh b. Dr. Y.V. Reddy c. K.C. Neogy
d. K.C. Pant e. Answer not known

@hFHwraler LHmabTeaud HHd GHUal SHemevauT wimr?

a. N.K. dm b.Dr. Y.V. @yl c. KC. pewrd
d. K.C. ups e. alewL OQxNwelsvenev

168. Which of the following statements is incorrect?
1. High birth rate and low death rate is known as population explosion
2. The ratio between working and non working population is dependency ratio
3. National Family Planning Programme was launched in 1948
a.1only b.1and 2 c.land 3

d.2and 3 e. Answer not known
etteu(pld eumdbSwmiselled 61g Heupmerng?
. 91895 Uply al&sbd wwBpld GHoBhd BBl alslsd WwdHHeT CFHTemd el 6TaIm

SIMPSHBLILBH MBS

2. GBeouewev OGEUILTHEHSGLD GCouenev OCFLIWLTHATHEHHGHWD SewLuleomer aldSHd  &iy
al&lHLoTGLD

3. 1948 oub semih Cadflw @Bbwus S GUUTLGS HLLW QSHTLRmISLILLL S

a. 1 @b b. 1 wBpb 2 c. 1 wBmb 3

d. 2 By 3 e. alewL OsfNwaledenew
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The Book ‘Planning and the poor’ is written by

a. Shriman Narayanan b. M.N. Roy c. Mahatma Gandhi

d. B.S. Mindhas e. Answer not known

‘FLLOL6D oBMID LMD’ TeID LjSHSHHLID SIGUTHENTEL 6T(SLILIL L Gl
a. WJLDGIT [BIJITUIGH0T 60T b. emb.eredr. gmul C. LDSTHLOM &HMbHI)

d. d.ererd. esrammerd e. alewL QFflwalsdensv

Match the List I with List II and select the correct answer using the codes given below:

List I List II
A. Employment generation programme 1. Minimum needs programme
B. Social Assistance programme 2. Swarna Jayanti Shahari Rozgar Yojana
C. Human Development programme 3. National Family benefit scheme
A B C
a. 2 1 3
b. 1 3 2
C. 3 1 2
d. 2 3 1

e. Answer not known
ulwed I v uluwed II & CuImsEH HCp CaThdsLLL (BeTen gflwmer el emul
Gxitey GFUIH

Ul guied I uliguied 1T
A. GouemeveumuiliL] o (heuTdhdd S LD l. oBhs UL Chemeuser Sl L LD
B. s o2 salsh SHLb 2. eroeutemt OCgwibgl FasmiGrmervaT Guwimegem
C. waig Gubur’ Bdh &S LLb 3. Bpdlw @HWU B S LD
A B C
a 2 1 3
b. 1 3 2
C. 3 1 2
d 2 3 1
e. alemL OFfluaisvensv

The 86th Amendment of the Constitution led to the inclusion of a new that
made free and compulsory education to all children of 6-14 years of age.

i. Article 21 - A

ii. Article 22 - B

iii. Article 23 - C

a. (i) only b. (i) and (iii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

SIrFwevemolIlel  86-6ughl HHHSHD, 6-14 UUHDLU DDNHB  SLHMBBEHHGHD BeveudF
BB SLLTWES Heval 6lems LS aild(pens oW CaTds aufleudHssHdl.

(i). Ufey 21- A

(ii). Ufey 22 — B

(iii). fey 23 — C

a. (i) @b b. (ii) @b (iii) w G c. (i) wmmub (i) W @G
d. (i) wpg (i) w GD e el Gsfwalsdened

The Gandhian model aims at the reform of as the most important sector in
Economic Planning in India.
a. Agriculture Sector b. Industry Sector c. Service Sector

47 | P a g e APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  http://www.appolosupport.com/




173.

174.

175.

176.

APPES | 1)

Y RFHTRT
SHENNAL

d. IT Sector e. Answer not known

&sMhHW  wrgHflwmerg DbHwmaled QuUTmHemTHTy SO edar W& (PoHSWIDTET  HDBUITS
o FTHmbBHamd CHTHHIONED 6HTw (BN

a. alleusmusdh Hlewm b. GsmPsd Hiewm C. uemilsh Hlewm

d. ssaed GaMPBI LS SHlenn e. alewL OFflwaisbensv

of Constitution gives special status to Jammu and Kashmir from 1954 to 2019.
a. Article 230 b. Article 370 c. Article 480
d. Article 560 e. Answer not known
afweoenoliyF gL Oldfley 1954 (psHed 2019 euedy UD(P BBID SHTAIUSHSBESGHF
By SIbhHe0GH aULHISI LIS
a. Ufley 230 b. \fey 370 c. Uifley 480
d. Ufley 560 e. alewL OxNwealeoenev

The major objective/s of the government to setup the Planning Commission in India are
(i) To promote a rapid rise in the standard of Living of the people by efficient use of the
resources of the Country.

(ii) Helps to increase the production and offering opportunities to all for employment in
the service of the Country.

(iii) Do not have the responsibility of making assessment of all resources of the

Country.
a. (i) only b. (i) and (ii) only c. (ii) only
d. (i) and (iii) only e. Answer not known

@hHwraled HLd Gpmed SIMLILSBETRN  DJFTRISSDHT  (phHW  CHTeHemIS6NTe6T
wirgl?

(1). BHILIQET  6UEMHIGMETSH HWEDDWTHL  LWLSTLGSHHIUSHET  (PeOlD  DSHSH6T6T  aUTDSHM B,
FHIHHev alengeuTer (PSICaBBHMmBD 6ldT6amI[HoHIH0

(il). o _musHFHow OF&fss 2 HeHe0, BTG DOOTHHIL Leflsaield Sienerelhab @D
Gameuev QUTUILILIBEME  QULDKIG)SH60

a. (i) wl @b b. (i) wBpd (i) wGEw c. (i) wL (G

d. (i) wspd (iii) wiGd e el Gzflwaisdemso

is not the main objectives of special economic zone
a. Generation of Addition Economic activity
b. Promotion of Export goods and services
c. Creation of employment opportunity
d. Reduction of Income Inequal
e. Answer not known
SAmly QUITHETTSHTT  LOGWIL 60& ) 60T CpTHaD D606V
Fn[BHHe0 OUTHEMTSHTT BLOUYHMNBHT 2 (HEUTHGHHED
gBmIg QUTHLH6T WwBHID CFemeuseT OLIHSHSHLD
GouemeveumUILiL] 2 (THeUTEH3H60
QUHOUTUI FLOSHBHIQULOGITENLD  (&HNBEHH60
alenL  Ogfluialsoensv

can o

Identify the article in the Constitution which provides reservation in services to the
scheduled castes and scheduled tribes for not being adequately represented.
a. 331 b. 332 c. 334 d. 335 e. Answer not known
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STDSHSLILL L BpId  UpkGguiler WésEhdGL  Curgiorear LITHBSHsHaan Ee0e0TenLoemL
sfweveniolilen 6hgd o L Lifle CFameuseled B HIHSL 19606 aULDHIGS B
a. 331 b. 332 c. 334 d. 335 e. alenL  GaMuwalsvemev

(i) Tamil Nadu Slum Clearance Board set up to improve the lives of the poor.

(i) It is now known as Tamil Nadu Urban Habitat Development Board.

(iii) It provides housing for all in Urban areas.

Which of the above statement is/are true with regard to Tamil Nadu Slum Clearance
Board?

a. (i) only b. (ii) only c. (i) and (ii) only

d. (ii) and (iii) only e. Answer not known

(i) ogowseiest eampsmamw  CubUBHS SODBTH GYosFiugd  LIBB  eurfluwbd
DIMLDSHBLILIL LS.

(i) ®a sBGUTEH SWOWDHTH BHTLB eumpail GobuT G eurflwb 6y SimPsSEILGSBSI.
(iii) maTUBhseied SimearaumsEld aib UPHIGSBSI.

SODHTH Gmaliugd Byl eurfwibd CHTLTUTE CuBdmpiu DfidmesHeriled 6% 2 ewienin?

a. (i) w @ b. (ii) wl Gw c. (i) wmmi (ii) L Gib

d. (ii) wmmiw (iii) w G e. alewL  Ozfwaisbenso

Assertion [A]: Social movements have varied in scope.

Reason [R]: Many movements are limited to Local Policies while others have

been international in their focus.
a. [A] is true, [R] is false
b. Both [A] and [R] are true and [R] is the correct explanation of [A]
c. [A] is false, [R] is true
d. Both [A] and [R] are true but [R] is not the correct explanation of [A].
e. Answer not known
ammum [Al: Fepd BUIBSBIGHET ITUINIOILEOMmeVE6T6 GoumILL 19 eimse.
amyewid [R]: UL BUIbBhIG6T 2 6T Csmeimns enalGeBu Emba alhHa et
SI8xFWID, WwBBmeal FTauBHa Sienalled Heueid OFevIddId eImser.
[A] &M, syemmed [R] seums
[A] @b [R] Bremio gfl, Guwaid [R] ereiiug [A] eliarer gfuimer allenbason@Lip.
[A] Heuml, sypermev [R] gl
. [A] wBub [R] Byemwio gf, epenmed [R] erasiugl [A] elB@ aflwner aiendsinoeoen.
e. allewL G flwalsvenso

an o

Choose the right answer:

Total fertility rate measures

a. The number of live births occurring during the year per thousand population.

b. The total number of deaths per year per thousand population.

c. The number of women of reproductive age dying due to maternal causes per one
lakh live births

d. The number of children born to women during her entire reproductive period

e. Answer not known

gilwmer elewLenwd BHiTey GFuIs

CTHHd HHOYHBHL AIBHBHD SleMalBLD (LPEDHBHSEIT.

a. 1000 &&6MOSHTMHESG @h UBLSH Baw Corg LIpliLseler eemrenisbmae

b. ouind wEHEeT OFTmEHEGH @M MUBLSH BEd Cords BBliyseler eewrenishma

C. @@ ool g Uplyseled HTUIeufl STJewImIS6NTed EBHGLD @IOUmHSS  UUISHIDL U
Gt 61Tl60T  6T600T6NN 6N

d. Quemisefesr (1) BNIGLBHBHDH BTOSHHMID LIBHS GLDHDSHHEMNGT  slewTentlsHemnd
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e. allewL G flualsvenso

Which of the following is incorrectly paired?

[. TNSWAN - Tamil Nadu State Wide Area Network

II. TNDRC - Tamil Nadu Disaster Reconstruction Centre

III. TNeGA - Tamil Nadu e-Governance Agency

IV.TNSDC - Tamil Nadu State Disaster Centre

a.land II b. II and III c. Tand IV
d. I and IV e. Answer not known

Leau(heussteuBplied 6% HaupTd EenentdhaLILL (HeTerng?

I. TNSWAN - SWOPHTH  1OMHe0 GUIHLDUITLIL 6ueme0WIGNLOLIL

II. TNDRC - SWOPHTH GuiiLiT wpIFFemoly e»LDWID

II. TNeGA - SODBTH  LO6HT-OLEHEMLD (LHSHEMLD

IV.TNSDC - SODHTEG  wrHev GufLT emiouid

a. I wmpid 11 b. II @b 1T c. IT By IV
d. I w@end IV e. alenL  Gafweaisvensv

Who is not the member of recommending committee in the appointment of Chief
Information Commissioner by the President of India?

a. Prime Minister of India

b. Leader of opposition in the Lok Sabha

c. Chief Justice of India

d. Union Cabinet Ministers nominated by the Prime Minister

e. Answer not known

Weiteupd o _mililenisefled Wi GQUWITS HMevauJmed BUWLOGSLILGLD — HEmeVEDID  HBH6U6D
ST ugHaldsTer LflbgHmrs @Gupaled @b GUBTHeu?

a. ®pbFHwl LysLor b. wosenenel edHThsl dd Hamevall

C. @hHWSH HMeVMID BHAHILIG d. Mysiogmed Hundésiul L hHU SIeDDFFT

e. allewL  Ggflwaisvenso

Choose the right matches.

1. TANCEM - 1976

2. SIPCOT - 1965

3. TANSI - 1970

4. TIIC - 1949

a. 1 and 2 are correct b. 1 and 4 are correct c. 2 and 3 are correct
d. 3 and 4 are correct e. Answer not known

SpsemiLeupmieT FRwmsl QUTHSSLILL HeTonendd CHTHOHBHHS.

1. TANCEM - 1976

2. SIPCOT - 1965

3. TANSI - 1970

4. TIIC - 1949

a. 1 wBpb 2 & b. 1 wBpib 4 g c. 2 oBmib 3 &
d. 3 wBmib 4 & e. aleowL  Oafwalsbensv

How many features of the immunization programme issued by the Central
Government of India on 19t March 2020 are being actively followed by the
Government of Tamil Nadu?

a.6 b.9 c.10 d.12 e. Answer not known
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@hHwmaled WHHW SFmhEHHTeo 19 WITF 2020 Sem Geueflull L, edHemer GBTUIS
SGUY aufl(penpdamend HUOWS DIs SHalyorsll Nemnp eurmaimpg?
a.6 b.9 c. 10 d.12 e. alenL  GaMuwalsvemev

A welfare state can be characterized in terms of the following functions:

1. It guarantees individuals and families a minimum income irrespective of the market
value of their work or property.

2. It narrows the extent of insecurity by enabling individuals and families to meet
certain social contingencies.

3. It ensures that all citizens without distinctions of status or class are offered the best
available social services.

Which of the above statements is/are correct?

a.land Il b. I and III c. I II and IIT

d. None of the above e. Answer not known

D&FH6IT [Hevel (YD SFengll Laieumb GFweoundGaeie il uled euensLUBSHSH60MLD:

1. SNBUTEEHSGLD GBLURSEHSSGD, JeuTsellear  GCoumevenwiujld OCarsdHler  Fhens
wHlemULD  GUIBLUGSSTOE, GMBHILLEF  UBLINSHBEG DTHF 2 S5SHIUTHLD
QULPRIGSBG.

2. SABUTHEHSGD GOLURSEHEGSWD 60 Fepsd GLTUTHSMENF FhHAHS 2 H6|eUHeT
(peold SIFg UTHISTULeTenoullell Siemeneud &MmBHEBSHI.

3. Fpd  SIHFHEVSH, FTHWL UTGUTHSaTE Dmaishdl GYLEHBEHSGHD FBHS FPHSF
Bremeumsmen aUPHIGHMMS DIIF 2 _BIFH CFUISBSI.

CuoBaemiL  amBuIBeiled 6%/ eteweu Ffluimeng)?
a. [ wmmib 11 b. I @b 1T c. I IT wiompid ITT
d. GuoBsemt_auBmiel sienauufleteney €. alent GFHflwalsdenew

Article that deals with prohibition of trafficking in human beings and forced labour.
a. Article 47 b. Article 17 c. Article 16

d. Article 23 e. Answer not known

welHsd SLHHMVS SHmLOFWIEH uBBlub, sLLTw o2 mwpliiBgsd SHeTaiubeamsd
oL O0FWIug UBBSlu alaumglded opdwed gl Lfley.

a. ey 47 b. ey 17 c. Ufey 16

d. \fey 23 e. alenL  GaMuwealsvemev

Who referred the Sarvodaya Movement Philosophy as a fuller and richer concept of
people democracy than any we have yet known?

a. Vinoba b.J.P. Narayan c. Anima Bose

d. Sankarro Deo e. Answer not known

‘BT DFleuem] DBHHMHOIL  LDHHET MGBTUISHSHH 6T HeNBeUTET 2 UITOUTE H(HHHIHDHMETSH
CamewiLeney FTGauTHWT BuibsdHHer CoHTLLTBH6T 6161l FnnsluleuiT

a. allGermum b. Geg.L9.BrymuIewT C. ojeior Gumerd

d. gmsCrr 19Guim e. alewL Gz fuwailsdensv

Which one of the statement is not true of “Beti Bachao Beti Padhao”. The objectives of
the schemes are?

(i) Prevention of gender biased, sex selective elimination.

(i)  Ensuring survival of the girl child.

(iii) Ensuring education and participation of the girl child.

(iv) To provide only self - employment to women.

a. (i) and (ii) only b. (i), (ii), (iii) only c. (ii), (iii), (iv) only

d. (iv) only e. Answer not known
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SDHWIL  “Oewt  GWHmSL UTHSTIY Bpid  sevel” (Bully usamCaur Guiy ughTGsur)
M FnBrled 6TFH 2 _eNImIDUIce: HI L GFHleT CHTHEmisenTaremel SHDaIHLOTHI

(i) @wm &y utedend wBBID uUTelard CFfey SIflwLS SHBHBH60.

(i) Quemt GWHmBUTeT euTDey 2 mIF CFUIHeD

(iii) Quewr Gwhmaseie seval WLBBID LRSaIlMU 2 BB CFUIHe

(iv) QuemiaEpdE SFWOSTIE UPEIS Dueuenl CFUIHE

a. (i) wBspib (ii) w G0 b. (i), (ii), (iii) L Bw c. (i), (iii), (iv) L B

d. (iv) w (B e. alenL  Gafweaisvensv

scheme for prevention of trafficking and Rescue, Rehabilitation and
Reintegration of victims of trafficking and commercial sexual exploitation.
a. Vatsalya b. One stop centre c. Ujjawala

d. Kishori Shakti Yojana e. Answer not known

GLHMSIMUILD CUETISMEMULD SLSHBHUMNDHSH HBHH60, SLSHFLILLLaITHmeT L5 6L (H&HH6V,
SLHSUULBL  umelwed Gamfled  FHUBSSILLL  OuatisEhd@SGL  LalTaumpe] C&Thd 560,
L56u01 (LD FepSTwHCHT(H QUMLD6U BT 60T GLDEM6V 2 (HOUTHEGHFH60 P WIUBBF
CFWeLIBGSHHIUSBEHTS 2 (HeUTHSLILLL HI L LD

a. Vatsalya b. One stop centre c. Ujjawala

d. Kishori Shakti Yojana e. allewL  Gfwalsoenso

Action may be taken against those involved in spreading misinformation under any of
the following laws.

a. 1938 - Rule 41, 43, 44 b. 1938 - Rule 45, 46, 48

c. 1939 - Rule 41, 43, 44 d. 1939 - Rule 45, 46, 48

e. Answer not known

SPHBTEID  6MHSHF FLLSHHOIIGSH HeuBTel HHeued LUJLILWD OFweddeafed FHUGBT L5
BLAIQSHMS 61(HHS (PlQuib?

a. 1938 - @it allg 41, 43, 44 b. 1938 - ®ei1 alg 45, 46, 48

c. 1939 - @air allg 41, 43, 44 d. 1939 - @ar alg 45, 46, 48

e. allewL G flwialsvenso

Match correctly the Socio Economic indicators of Tamil Nadu and their corresponding
contribution as per 2011 census:
Economic Indicators Tamil Nadu (2011 Census)
A. Decaded Growth rate 1.48.40
B. Sex ratio

(Female per 1000 males) 2. 946
C. Child 0-6 years

(Female per 1000 males) 3. 996
D. Urban Population Percentage 4.15.61

A B C D

a. 3 2 1
b. 4 1 3
c. 4 3 2
d. 4 2 3
e. Answer not known
2011 wéx6eT OFTend HEHOBGBLLND  SOWDBTL 9T  Fepsll  QUIHMTHTTS  GnBIUL emLujb
Suppler umisaflemuuw Filwmsll QUTHHBHALD.
QumrmenTaHTy GHBIui® SODHETH (2011 HerdOsHBLIL)
A. ugsrenh euenTsd aladHd 1. 48.40
B. umedler el&lsid

TN
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(QUUITD SLETTHEHDHE 61HHMT CILICHIH6IT) 2. 946
C. aubms (0-6) UTBH6T
(QUUITD DLETHEHDHE 61HHM6T CILICHTIH6IT) 3. 996
D. paiiys wésset 0xTensd FHaisbd 4. 15.61
A B C D
a. 3 2 1 4
b. 4 1 3 2
c. 4 3 2 1
d. 4 2 3 1

e. allewL G fluwailsvenso

191. Who is the author of the book “Social movements in India”?

a. T.K. Oman

d. Ram Ahuja
“@bhgwumaled Fepsd BUISHEHI
a. T.K. @uoesr

d. gmb si&HmT

b. M.S.A. Rao c. M.N. Srinivas
e. Answer not known

&6 etedi3 mIedlent pAfluim wimrr?

b. M.S.A. g6l c. M.N. nfleumerd
e. alowL GaMwalsdenev

192. Find the correct and / incorrect matches among the following;:

1. Article 338 - 1:
2. Article 333:

3. Article 331:
4. Article 330:

a.1, 2,3, 4 are correct
c. 2,3, 4 are correct but 1 is
e. Answer not known

National Commission for Scheduled Tribes.
Representation of the people of the Anglo- Indian
Community in the Legislative Assemblies of the States.
National Commission for Scheduled Castes
Reservation of seats for scheduled castes and scheduled
tribes in Lok Sabha

b.1, 2,4 are correct, 3 is incorrect
incorrect d. 1, 3, 4 are correct but 2 is incorrect

SpdbBHemi_aubled o1k gflwime wHBpID / SHeuprsll QUMb ujeTeng?

1. ald) 338-9fey I:
2. ald 333

. G)ﬂg)q 331:
. algl 330:

AW

LIDMIGIQLoEHHEHHETRN CHIW HLOagET DIeNLDGH60

mBlev ULl Guyemeuseied RIS Ce0T-EHAHUIGT DS D EHSHSTE
B Ssiald aIpmIE e

ulpweden WHDEHHBTRN CHFW BT DIHLOGH60

UG @6  BBID UL IQUIeI6T  D&DHEHHETRN  LDHHETNIS

CaTGHHHeMe0 HNHOHTGHHH6T PHIHHH CFUIHE0

a. 1,2, 3,4 simensgaid g

b. 1, 2, 4 gfl, guemed 3 WL B Heuml

c. 2,3, 4 af, gemed 1 w G seum  d. 1, 3, 4 gf, spemed 2 G Heuml

e. alemL G flwailsenso

193. Article 15 (4) clearly speaks about
a. Socially and educationally backward
b. Inadequate representation in backward a class service
c. Free and compulsory education
d. Weather sections of the people and includes the expression the SCs and STs

e. Answer not known

glLudfley 15 (4) eemzll uBpBlsh CgefleuTsd smmpisBs?
a. Fps oB@ID Heval FHWTH LaTHmSU 0SB

b. Ueismaw osefler g
C. ®6oveus MUID SHLLTUISH

LUenLWITed Lemildemenll LUBpd anmIsing
&6val

d. uluwedernd, WeeaITD B6TD BBID MIIGHMBHSD DHHEMNET 2 GITeBH6IT
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e. alemL Gz flwailsvenso

Which of the following is true about the Abolition of Bonded Labour System?

(i) Persons kept as bonded labour are released and rehabilitated by providing financial
assistance of Rs. 20,000.

(if) House site pattas, drinking water and Bank loan assistance are provided to them.

a. (i) only b. (ii) only c. (i) and (ii) true

d. (i) and (ii) false e. Answer not known

Letau(heustouBplied OaTHBlgemD QLILILPMBS S L GHH60 6Temel 2 _6wTenIOWITETINE  DI6V6VSHI
o1& 2_euTenLDUITeTgl?

(1) OCBTHBHMHMTE MAUSHLILLL  BUTH6T alBaldsliul G wralwnrs dp. 20,000/- K&
o2 gal aupmIS LBIUTDe] DleebSUILIBSBTTHENT

(i) OaTseEpdd LB Wl ULLT, GYBT 6aiFd BB MRFSSLET 2 56|
QUPRISLILB S BESI.

a. (i) wi e & b. (ii) w @w & c. (i) wppnb (ii) &M

d. (i) wBpiw (i) seum e. alewL Oxflwaiseney

(i) In April 2008, Tamil Nadu Transgender Welfare Board was formed as the nodal
body to address the social protection needs of Transgender.

(ii) The Board addresses the Social Protection needs of Transgender people such as
income assistance, housing, education, employment and health care.

(iii) It is a platform to bring various section of the society and private sectors together to
discuss what can be done to address the basic needs of transgender community

Which of the above statements is/are true with regard to Transgender Welfare Board?

a. (i) only b. (i), (ii) only c. (i), (iii) only

d. (ii), (iii) only e. Answer not known

(1) @guged 2008 @0 SHUODBTH HHBERIDSHET [H6O  UTHWID  H(HBHRIMDDSHEHSHSHTE
FePSLILITSHISTLILS Cxhemousener Hlemmey CFuIeuBHBHTET (WPpSHEW SIEMLOLILITS
92 (HUTHSBLILL LG

(i) eumeurws o Hai, ai B eusFd), ®eval, Geuemeveuruilil] BMID HSTHTIL UTHISTIL CUT6B
Cxpemeusenen FHHpmimaeseller Fepsll LUTHSTINBEG eaumflud Henpe CFUISBS.

(i) Hmpprmasseiear SiglitmL g CHemeusemen Henme OCFUIL 66l  CQFUILIGOTD  6TETHI
alandéds FpadhHar LeLGup Liflaleaemyub, sSeflwmT sHempuiaemyub Qealenemdb@d b
HONMD B

HHBEIDSH6T Hev aumflwd OFHTLUTS GCoBEemi FmBpIseilsd 6% o ewienip?

a. (i) wr @b b. (), (i) wr @b c. (), (iii) wr @b
d. @, i) w’ @G e. alewL Gafualsdenso

Match the following judgement with its pairs:

A class of citizens and if the caste as a whole is socially and educationally backward,
reservation can be made in favour of such a caste on the ground that it is a socially and
educationally backward class of citizens within the meaning of Art.15(4).

a. Periya Karuppan Vs State of Tamilnadu

b. M.R. Balaji Vs State of Mysore

c. P. Rajendran Vs State of Tamilnadu

d. U.S.V. Balram Vs State of Andhra Pradesh

e. Answer not known

SdHHem HTIlenerl QUTHGHHLOTeT Renemntu] et G

“grdl  (PIRUBHIOTEF Fepd LBEID  Hevel  Blmeudaled LIBLILIQMHBSTEL, DIFFUI0NLOLILF
glLGFHer 15(4) dflaler QuimeT euybliBGLUl G SiFeTSH Seval WHBEID Feps  Hleneouled
UBul BetenQseans S DSBS B @HHEH Gleuiweomd”
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a. Quilw s@miueT Vs S10DHTH Oip& b. M.R. umeored Vs eno@iT Siys
c. P. @ymBxbhalyest Vs SIODBTH Siys d. U.D.V. uetgmb Vs eubditt 1i8ss oiys
e. allewL  Ggflwalsvenso

Which of the following are/is true with reference to the impact of social movement?

()
(i)

(i)

Social movements attempts to negotiate with State, Market and Civil Society.

The outcome of the movement could be seen interms of social, political and
economic change but not structural.

The State has the power to formulate new policies or modify existing public
policy as per the demands of the social movements.

a. (i) only b. (i) and (ii) only c. (i) and (iii) only
d. (ii) and (iii) only e. Answer not known
SPBMIL. Fepd BUHssH FHThsHHlevTen OeuelliLTGaelled 61g gfluimerensu?

(i)
(i)
(i)

Fpd BDUSHRIFBET  Of&, FhHwd OBEBID  GuTe  wHSEHLET  FWFFD  OFuiul
(PWB &S HIBeT.

BussHH6  allemenasmen SULewl FHWTe LMTHSTOE0 Feps, HFSFUed  LOBE@ID
QUT(HETTSHTT  LOTBBHIGET6T CLPEVLOTHS  BHITERIGOTLD.

geps Bussmselar CamiomasendsCaBbL YUHw OCsTermssensen 2 (hHeourdsGaur
SIFV6V 6I(PD QUTHIS OFmeiensemwt WIBBCMT DIIHcHE DHSTID 2 _6TeNg.

a. (i) w @ b. (i) wspib (ii) wL G c. (1) wmmid (iii) o BLd
d. (ii) wBpb (iii) w GEw e. aflewL  QFfwaieienso

Preliminary stage in the formation of social movement is related to

a. Crucial Stage b. Unrest Stage c. Final Stage
d. On Going Stage e. Answer not known

Fpd QUISHS 2 (HUTHSHHO DJDLS SLLID _ CHILTL LW

a. (PSHBWTET Blenew b. omwdulaemw Bemew  C. BmiF Henev

d. pLb@IS BTN HBGL BHewew e. el g flwalsdamnso

Match correctly the States with their achievement of sustainable development goal.

A. Tamil Nadu 1. Gender equality

B. Chattisgarh 2. Zero hunger

C. Kerala 3. No poverty

D. Odisha 4. Climate Action
A B C D

a. 3 1 2 4

b. 1 2 3 4

C. 4 3 2 1

d. 2 4 1 3

e. Answer not known
THeVEIGmeNT  SluBplen  Hlpdhd  euen&FHls  @NsCamerseiar  FTHmaremuwds — CoTem(h

QUTHSHHIS.
A. 100pBT(6 1. urelen FLOHSBIAID
B. sgsevaT 2. yeedw udl/ulgeiuiebeor Henev
C. Gaxyenm 3. eumIeMLOUTBTEnLD
D. quar 4. LHEUBHNED [BLGUIGHMS
A B C D
a. 3 1 2 4
b. 1 2 3 4
C. 4 3 2 1
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d. 2 4 1 3
e. allewL G flwalsvenso

Choose the correct answer:

Assertion [A]: Development increases the quality of life.

Reason [R]: People will have higher income, better education, better health and

nutrition, less poverty.

a. Both [A] and [R] are true and [R] explains [A]

b. Both [A] and [R] are true and [R] does not explain [A]

c. [A]is correct and [R] is false

d. [A]is false and [R] is true

e. Answer not known

gilwmenr allewLenwd CHitey Gauis.

amu [A]: GuuT(h UTDSMBSH SHIHMSH 2 WITHHSHDBS.

smyewid [R]:  wésel oifsomer aumeutul, Hpbs @eval, 2 160 B WBHBID 261 L FFHa,
GMBHS UBIMLD GILIBICUTTEGIT.

a. [A] wmmibd [R] @yewio silwmenag, wimibd [R], [A] emeu elend@dBgi.

b. [A] wBmw [R] @yewiGn siwmerg [R], [A] eeu alendsaisvemnev

c. [A] sfwreng wBmid [R] Heupmeng

d. [A] seupreig wBmpibd [R] gflwrerg

e. alowL  GgMwalsvenso
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